EINBAUANLEITUNG,

INSTALLATION INSTRUCTIONS,
NOTICE D'INSTALLATION,
MANUAL DE INSTALACION,
ISTRUZIONI DI MONTAGGIO,
INSTRUKCJE INSTALACJI

one2cleanXtra




mail@graf.info
www.graf.info

Fiir einen ordnungsgemaBen und sicheren Gebrauch die
Anweisungen und Hinweise in diesem Dokument befolgen.

Einbauanleitung vor Einbau, Montage und Inbetriebnahme sorgfiltig lesen.
Flr spateres Nachschlagen aufbewahren.

Anleitung fir den Einbau einer
GRAF Kleinklaranlage
one2cleanXtra

EAN-Nr. 4023122278962
Ausgabedatum 25.11.2024
Originalbetriebsanleitung
Originalsprache: Deutsch

Fir alle Gber GRAF bezogenen Zusatzartikel erhalten Sie separate in der Transportverpackung beiliegende Einbau-
anleitungen.

Alle Bauteile vor dem Versetzen in die Baugrube auf eventuelle Beschadigungen tberprifen.

Betrieb und Wartung der Anlage sind in separaten Anleitung beschrieben.

Otto Graf GmbH Kunststofferzeugnisse
Carl-Zeiss-Stralle 2 — 6, 79331 Teningen
Deutschland

Tel. +49 7641 589-0
mail@graf.info  www.graf.info

2/124



mail@graf.info

www.graf.info
Inhaltsiibersicht

Inhaltsiibersicht

I =3 =Y T3 = Vo 4
7 110 =Y 1= 6
2.1 Sicherheit 6
2.2 Montagewerkzeug 6
2.3 Be- und Entliftung 6
2.4 Einbau der Behalter 6
3 Aufbau und FUNKEIONSPIINZIP ...cccceieiicieeicccr e mr e mr e smn e s s mme e e e e e e s 7
L SN =3 ¢ Lo 14 Lo g1 =T T 00 1= T (e o 1 4 - 8
4.1 Anschluss der Zu- und Ablaufleitungen 8
5 Montage des Innenschaltschrankes..........ccoooomiiiiiicicin 9
5.1 Auswahl des Standortes 9
5.2 Montage PP-Schrank 9
5.3 Montage Stahlschrank Typ2 11
5.4 Montage Stahlschrank Typ3 13
6 Montage des AuRENSChaItSCRIraNKeS ..........ccccciiiiiiiicccccerr e e nmn e e e e s e nnns 14
6.1 Auswahl des Standortes 14
6.2 Elektrischer Anschluss 14
6.3 Montage AuRenschrank fir PP-Schrank 14
6.4 Montage AuRenschrank L, Kunststoff 15
6.5 Montage Aullenschaltschrank L und XL 15
7  Verlegen der LUFtSChIAUCKE ... s e e e e e e mn e e e e mnnns 18
7.1 Montage GRAF Leerrohrverschluss aus PE-Schaum 18
7.2 Leerrohrverschluss mit PU-Schaum 19
L= N 11 o =1 1= o5 F= 1 0 o o - PSR 19
L2 R ¢ ] 4 - T3 U 20
9.1 Fundamentplan A-Schrank L 20
9.2 Fundamentplan A-Schrank XL 21

3/124



mail@graf.info
www.graf.info

1 Lieferumfang

1 Lieferumfang

Im Lieferumfang sind enthalten:

e Behalter mit vormontierter Klartechnik bestehend aus Luftdruckhebern fiir die Belliftung und den
Klarwasserabzug, sowie einem Schlammentnahmerohr und einer Tauchwand.

o Teleskop-Domschachte begehbar, optional PKW-, oder LKW-befahrbar (gegen Aufpreis).

e Schaltschrank mit Steuerung, Ventilen und Membranverdichter, Drehschieberverdichter oder
Seitenkanalverdichter.

Optional ist der Schaltschrank als Aufdenschaltschrank erhaltlich.

Nicht im Lieferumfang enthalten sind:

o KG-Rohre fur die Behalterverbindungen und die Leerrohre. Die erforderlichen Rohrdurchmesser
sind den technischen Zeichnungen zu entnehmen.

e Schlauche zur Luftzufiihrung vom Schaltschrank zu den Klarbehaltern. Benétigte Luftschlauche
kénnen der Tabelle 1 entnommen werden.

Far XL-Anlagen gibt es Schlauchpakete mit jeweils 1 x 13 mm und 1 x 19 mm. Alternativ und fur
groRere Anlagen kdnnen die bendtigten Schlauche als Rollenware bestellt werden.

Schlauchpakete fir XL-Anlagen:

Schlauchpaket 10 Meter 107686
Schlauchpaket 20 Meter 107688
Rollenware:

PVC-Schlauch 20 Meter, schwarz 13 mm 934017
PVC-Schlauch 20 Meter, schwarz 19 mm 934694
PVC-Schlauch 20 Meter, blau 19 mm 934020
PVC-Schlauch 20 Meter, transparent 25 mm 934002

47124



Tabelle 1: Typenprogramm mit technischen Daten

mail@graf.info
www.graf.info

1 Lieferumfang

.. . Typ Innenschalt- Typ AuBenschalt- Typ Bendotigte
AnlagengroRe Behlter schrank schrank Verdichter | Luftschlauche
12 EW 1x 8.500 L PP-Schrank A-Schrank fiir PP HP 150 1x 13 mm

1x 19 mm
15 EW 1x10.000L | PP-Schrank A-Schrank fiir PP HP 200 Tx 13 mm

1Xx 19 mm
19 EW 1x13.000L |  PP-Schrank A-Schrank fiir PP HP 200 1x 13 mm

1x 19 mm
24 EW 1x 16.000 L PP-Schrank A-Schrank fir PP HP 200 2x 19 mm
32 EW 1x22.000 L Typ 2 A-Schrank L Kunststoff | DT 4.16 2x 19 mm
45 EW 1x 32.000 L Typ 3 A-Schrank L Stahl 2x HP 200 2Xx 19 mm
50 EW 1x 38.000 L Typ 3 A-Schrank L Stahl 2x HP 200 2x 19 mm
60 EW 1x 44.000 L Typ 3 A-Schrank XL Stahl R30-MD 5x 19 mm
70 EW 1x 48.000 L Typ 3 A-Schrank XL Stahl R30-MD 5x 25 mm

5/124




mail@graf.info
www.graf.info

2 Hinweise

2.1 Sicherheit

Bei samtlichen Arbeiten sind die nationalen Unfallverhiitungsvorschriften zu beachten. Besonders bei Be-
gehung der Behalter ist eine 2. Person zur Absicherung erforderlich.

Des Weiteren sind bei Einbau, Montage, Wartung, Reparatur usw. die geltenden nationalen Vorschriften
und Normen zu berucksichtigen.

Bei samtlichen Arbeiten an der Anlage bzw. Anlagenteilen ist immer die Gesamtanlage auf3er Betrieb zu
setzen und gegen unbefugtes Wiedereinschalten zu sichern.

Der Behalterdeckel ist stets, auler bei Arbeiten im Behalter, verschlossen zu halten, ansonsten besteht
hdchste Unfallgefahr. Es sind nur original GRAF-Abdeckungen oder von GRAF schriftlich freigegebene
Abdeckungen zu verwenden.

GRAF bietet ein umfangreiches Sortiment an Zubehorteilen, die alle aufeinander abgestimmt sind und zu
kompletten Systemen ausgebaut werden kénnen. Die Verwendung anderer Zubehorteile kann dazu flihren,
dass die Funktionsfahigkeit der Anlage beeintrachtigt und die Haftung flr daraus entstandene Schaden
aufgehoben wird.

2.2 Montagewerkzeug

Das Werkzeug, das zur Montage der Edelstahl-Schlauchschellen verwendet wird, muss aus Edelstahl sein.
Ansonsten kann es zum Rosten der Edelstahlteile kommen, die Kontakt zu dem nicht Edelstahlwerkzeug
hatten.

2.3 Be- und Entliiftung

Alle Behalter sind zu Be- und Entluften. Falls erforderlich, sind zusatzliche Liftungsleitungen oder Liftungs-
offnungen anzuordnen. Dabei sollten Liftungsleitungen so angeordnet sein, dass eine natirliche Liftung
moglich ist (Kaminwirkung).

2.4 Einbau der Behalter

Zum Einbau der Carat XL und Carat XXL-Behélter ist die Einbauanleitung der Be-
halter zu beachten. Bitte beachten Sie insbesondere die Einbaubedingungen.

6/124



mail@graf.info
www.graf.info

3 Aufbau und Funktionsprinzip

3 Aufbau und Funktionsprinzip

Die one2cleanXitra ist eine vollbellftete Anlage bestehend aus einem Behalter.

Zulauf )
—\J |/ @ mL N [_ | Ablauf

— Probeentnahme

Tauchwand —
— Klarwasserheber
Bellftungseinrichtung
(Tellerbellfter)
e [ T

S Ty

Die Kleinklaranlage ist eine vollbiologische Kleinklaranlage und arbeitet nach dem Aufstauverfahren mit
Langzeitbellftung. Die Anlage besteht aus einer aeroben Stufe. Diese Stufe ist durch eine Tauchwand in
eine Grobstoff- und Belebungskammer unterteilt, die im unteren Bereich miteinander verbunden sind. Bei
diesem Verfahren wird somit das gesamte hausliche Abwasser unmittelbar einer aeroben Abwasserbe-
handlung ausgesetzt. Durch das Einblasen von Druckluft wird die gesamte Anlage beliiftet und der dadurch
entstehende belebte Schlamm reinigt das Abwasser biologisch.

Eine genauere Beschreibung des Verfahrens finden Sie im Betriebsbuch.

71124



mail@graf.info
www.graf.info

4 Endmontage Tankdome

.. Maximaler
P Wasserstand %W —>
Der Pumpvorgang des Klarwasserabzugs erfolgt mit einem —
Druckluftheber (Mammutpumpen-Prinzip). Durch die spezi- XKT-SH]CK
elle Konstruktion des Hebers wird der minimale Wasser- - il
stand genau definiert (siehe nebenstehende Abbildung). = N Minimaler Wasser-
Sinkt der Wasserstand unterhalb des T-Stiickes ab, so wird stand
kein Wasser mehr gefordert. T
Einlauf Druckluft
Detaillierte technische Zeichnungen —
der Anlagen sind bei der Otto Graf
GmbH erhaltlich und sind malRgeb-
lich fir Montage und Einbau.
Diese Zeichnungen enthalten auch

Details zur Verlegung der Leerrohre
und der Luftschlauche.
Funktionsprinzip des Hebers fir Klarwasser

4 Endmontage Tankdome

Der Versand der Klaranlage erfolgt aus logistischen
Grinden ohne vormontierte Tankdome und
Teleskop-Domschachte. Zur Montage ist die Einbau-
anleitung des Behalters zu beachten!

4.1 Anschluss der Zu- und Ablaufleitungen

Das Zulaufrohr wird von aulen in die vormontierte mw

Lippendichtung gefliihrt. Das Rohrende sollte min- \ _

destens 10 cm in den Behalter hineinragen. / '

Die Ablaufseite wird mit einem Rohr mit Muffe an-
geschlossen.

8/124



mail@graf.info
www.graf.info

5 Montage des Innenschaltschrankes

5 Montage des Innenschaltschrankes

5.1 Auswahl des Standortes

Bei der Auswahl des Schaltschrankstandortes missen Sie Folgendes beachten:

e Hohenlage tber dem héchstméglichen Wasserstand im Behalter, um im Havariefall Uberflu-
tungen und Wasserzuflisse im Freispiegel zu vermeiden.

e Der Betrieb erzeugt Gerausche! Der sich im Betrieb befindliche Luftverdichter erzeugt ein lan-
ger anhaltendes Dauergerdusch.

e Der Schaltschrank bendtigt einen separat abgesicherten Stromanschluss (16 Ampere, trage).
Der Stromanschluss dient als Netz-Trenneinrichtung und muss jederzeit leicht zuganglich sein.
Zusatzliche Stromverbraucher an derselben Sicherung kénnen den Betrieb stéren.

e Der Standort des Schaltschranks muss ein trockener, kihler und gut beltfteter Raum sein. Der
Schrank und insbesondere die Liiftungséffnungen und der Hauptschalter diirfen nicht abge-
deckt bzw. muissen fiir Wartungsarbeiten frei zuganglich sein.

e Die Luftschlauche sollten nicht Ianger als 20 Meter sein.

5.2 Montage PP-Schrank

Technische Daten =280
Schutzklasse: IP20 é

Material: PP N

Farbe: schwarz

Abmessungen B x H x T [mm]:
420 x 625 x 275

Schlieung:
Schraubensicherung an der Frontseite, mittig

H
Elektrischer Anschluss: u m ?E
Vorsicherung bauseits erforderlich

1~230V, 50 Hz &

Anschlisse am Schaltschrank: —
Drucklufttiillen: 420—

3x13mm, 1x 19 mm Abmessungen des PP-Schrankes

Anschlussleitung mit Stecker-Typ E+F

9/124



mail@graf.info
www.graf.info

5 Montage des Innenschaltschrankes

Inhalt des Beutels mit Montagematerial Benotigtes Werkzeug
1 Kunststoffdubel Bohrer M10
Gummi -Unterlegscheibe Maulschlissel SW13
Unterlegscheibe Stahl Bit TX25 fiir Stockschraube
Stockschraube M8x10 Bit H2 fir Schrankdeckel

Unterlegscheibe Stahl
Zahnscheibe

Mutter M8

Schraube M4x20 als
Kindersicherung fiir den Deckel

Die Befestigung des PP-Schrankes erfolgt mit 4 Stockschrauben (4), die mit Diibeln (1) in der Wand befes-
tigt werden. Die Unterlegscheiben, Zahnscheiben, Muttern sind entsprechend der oben stehenden Abbil-
dung zu montieren.

Nach der Montage ist der Deckel mit der Schraube M4x20 zu sichern. Als Ersatz wird eine zweite Schraube
mitgeliefert.

0 ([ Njo|lga[hhwWw|IN

Elektrischer Anschluss

Die Steckdose, an die der Schrank angeschlossen wird, muss geerdet und iiber
die Hausinstallation mit einer 16A -Sicherung abgesichert und vom Netz

trennbar sein.
Anschluss

absichern!

107124



mail@graf.info
www.graf.info

5 Montage des Innenschaltschrankes

5.3 Montage Stahlschrank Typ2

Technische Daten N
d®
Schutzklasse: IP44
Material: Stahlblech 1,5 mm, S)
pulverlackiert
Farbe: RAL 7032 o SOHDP
Abmessungen B x H x T [mm]:
600 x 600 x 330
B T
Teilelibersicht
' r
L ‘, Nr. | Teil Anzahl
' J 1 Metallschrank 1
2 Schrankschliissel 1
3 Wanddibel M10 4
4 Wandhalterung 4
5 Schraube M8 fein 4
6 Unterlegscheibe 4
7 Mutter M8 4
8 Schraube M8 4

ol 60 oo o.

Der schwarze Kunststoffschlissel zum Offnen des
Schrankes ist seitlich am Hauptschalter befestigt. Im
Inneren des Schrankes befinden sich alle Montage-
teile.

Zum Aufhdngen des Schrankes werden vier
Bohrungen M10 in der Wand benétigt. Die Absténde
sind der Tabelle zu entnehmen.

117124



mail@graf.info
www.graf.info

5 Montage des Innenschaltschrankes

Schranktyp B[mm] | H[mm] |
I-Schrank Typ 2 630 545 |

Danach die vier Wanddubel M10 in die Bohrungen ein-
setzen.

Die  Wandhalterun-
gen sind wie in der
Abbildung dargestellt
an den Bohrungen im
Schrank  anzubrin-
gen. Fixiert werden
die Halterungen mit
den vier Schrauben
M8 (fein) und den da-
zugehorigen  Unter-
legscheiben und Mut-
tern.

Hinweis

Bei Schranken mit
Becker Verdichtern
sind die Halterungen
bereits vormontiert

Zuletzt wird der Schrank mit Hilfe der Schrauben M8
(grob) in den zuvor gesetzten Bohrungen angebracht.

Alternative:

Die Schrauben M8 zuvor bis auf 15 mm in die Wand
eindrehen und den Schrank mit Hilfe der Schlitze in
den Wandhalterungen einhangen.

127124



mail@graf.info
www.graf.info

5 Montage des Innenschaltschrankes

5.4 Montage Stahlschrank Typ3

Technische Daten

Schutzklasse:
Material:

Farbe:

Abmessungen B x
800 x 675 x 500

P44

Stahlblech 1,5 mm,
pulverlackiert

RAL 7032

Hx T [mm]:

@
H SEASERSEAS
B N T

Der Schaltschrank wird bereits mit den
vormontierten Gummi-Metall-Puffern ausgeliefert.
Bei der Aufstellung muss darauf geachtet werden,
dass der Standort stabil (z.B. Tisch), waagerecht
und eben ist. Eine zusatzliche Fixierung ist nicht
notwendig.

137124



mail@graf.info
www.graf.info

6 Montage des AuBenschaltschrankes

6 Montage des AuBenschaltschrankes

6.1 Auswahl des Standortes

Der Standort sollte kithl und wahrend der Sommermonate vor direkter Sonneneinstrahlung geschitzt sein.
Die Seiten des Schrankes mussen mit mindestens 10 cm Freiraum zur nachsten Wand aufgestellt werden.
Wird bauseits eine Beschattung vorgesehen, ist diese an den Seiten offen zu gestalten, um den Schrank
ausreichend zu beliiften und Stauwarme zu vermeiden.

e Hohenlage Uber dem héchstmdglichen Wasserstand im Behalter, um im Havariefall Uberflu-
tungen und Wasserzuflisse im Freispiegel zu vermeiden.

e Der Maschinenschrank bendtigt einen separat abgesicherten Stromanschluss (16 Ampere,
trage). Zusatzliche Stromverbraucher an derselben Sicherung kénnen den Betrieb storen.

e Der Betrieb erzeugt Gerausche! Der sich im Betrieb befindliche Luftverdichter erzeugt ein Ian-
ger anhaltendes Dauergerausch.

¢ Die Luftschlauche sollen nicht langer als 20 Meter sein.

6.2 Elektrischer Anschluss

Der elektrische Anschluss des Schaltschrankes darf nur durch eine Elektro-
fachkraft durchgefiihrt werden!
Zur Stromversorgung muss ein Erdkabel zum Schrank verlegt werden. Dieses Ka-
bel muss liber die Hausinstallation mit einer 16 Ampere-Sicherung abgesi-
Anschluss chert und vom Netz trennbar sein.
Absichern

6.3 Montage AuBenschrank fiir PP-Schrank

Eine separate Anleitung flr den Einbau und die Montage des Au-
Renschaltschranks fur PP I-Schrank ist dem AulRenschaltschrank
beigelegt und fiir den Einbau unbedingt zu beachten.

ﬂn,l »

PP-Schaltschrank, AuRenschaltschrank aus Kunststoff
im Lieferumfang fur PP-Schaltschrank (optional)

147124



mail@graf.info
www.graf.info

6 Montage des AuBenschaltschrankes

6.4 Montage AuBenschrank L, Kunststoff
Technische Daten
Schutzklasse: P44

Material: GFK PE
Farbe: RAL 7035

Abmessungen ( B x H x T [mm]) — Ilm\il
585 x 1745 x 315 | ”H*HH""

Die fur die Aufstellung im Freien vorgesehene Kunststoffsaule ist bis zur Markie-
rung, welche auf der Vorderseite des Schrankes angebracht ist, in den Erdboden
zu setzen. Hierfur ist am geplanten Standort eine ausreichend tiefe Ausschach-
tung von etwa 600 bis 640 mm vorzusehen.

In die vorbereitete Grube ist das Leerrohr mit den Luftschlauchen zu fihren.

Der Fundamentsockel ist gemal beiliegender Montageanleitung zusammenzu-
bauen.

Anschlieend ist der Schrank bis zu einer Tiefe von ca. 60-64 cm in die Grube
senkrecht einzusetzen. Es ist darauf zu achten, dass der Schrank sicher, fest und
lotrecht in der Ausschachtung steht.

Zur Verminderung von Bodenfeuchte, den noch vorhandenen Hohlraum im Sockelfufy mit Sockelftligranulat
(Art.-Nr. 107607) fachgerecht verfillen. Das Fullmaterial kann dauerhaft im Boden des Schrankes verblei-
ben und muss nicht ausgewechselt werden.

Ein zum anstehenden Erdboden offener Schrank kann bei hoher Boden-
feuchte zu Korrosionsschaden an den elektrischen Einbauteilen fiihren!

6.5 Montage AuBenschaltschrank L und XL

Technische Daten [~ B ~], -r—’:’!j
Schutzklasse: P44 ! '
Material: Stahlblech 1,5 mm,

pulverlackiert
Farbe: RAL 7032

Abmessungen (B x H x T [mm])
L: 765x 880 x 660

XL: 1140 x 1080 x 720
Fundament: Vollfundament bauseits | ~ '

157124



mail@graf.info
www.graf.info

6 Montage des AuBenschaltschrankes

Fundament und Versetzen

Nr. | Teil Anzahl
Metallschrank L oder XL
Schraube M8

Dibel M10
Unterlegscheibe
Ringschraube M16

A WIN|—=
R

Q Zum Versetzen des Schrankes werden
4 Ringschrauben M16 mitgeliefert. Vor
der Anbringung der Ringschrauben am
Schrank ist es erforderlich das montierte
Regendach und die Polystopfen aus den
Ringschraubenaufnahmen zu entfernen.

I Nach dem Versetzen missen wieder die

Polystopfen eingesetzt und das Regen-
dach angeschraubt werden. Der Schalt-
schrank soll mit 4 Schrauben M8 (im Lie-
ferumfang) am Fundament befestigt wer-
den.

— Vor der Aufstellung muss ein Streifen-
[ oder Vollfundament fachgerecht vorbe-
= reitet werden.
: Fundamentplane siehe Seite 20.

16/124



mail@graf.info
www.graf.info

6 Montage des AuBenschaltschrankes

390

255
+

1229

1400

1000

A-Schrank L

A-Schrank XL

=

27

N
/

M10 holes

/@ 5
T~

]

e

.
IS B

1717124

Beim Giellen des Fundaments sind die
gezeichneten Malde einzuhalten, insbe-
sondere die Position des Loches/ der
Loécher, durch das spater die Schlauche
geflhrt werden.

Im Schrankboden befinden sich vier
Bohrungen M10. Diese Bohrungen sind
im darunter liegenden Betonfundament
weiterzuflhren.

Einsetzen der Dubel M10 in die Bohrun-
gen. Befestigung des Schaltschranks mit
Hilfe der vier Schrauben M8 (zusammen
mit Unterlegscheiben).



mail@graf.info
www.graf.info

7 Verlegen der Luftschlauche

7 Verlegen der Luftschlauche

Die Beluftungseinrichtungen und der Druckluftheber missen an die Ventilleiste im Schaltschrank ange-
schlossen werden. Die zwei Luftschlduche werden Uber das erdverlegte Leerrohr bis zum geplanten
Schrankstandort herangeflhrt. Sie sind so zu kiirzen, dass die Schlauche nicht unter Spannung stehen und
es nicht zum Knicken kommen kann.

Beim AnschlieRen ist darauf zu achten, dass die Schlduche an die richtigen Tillen befestigt werden. Um
Verwechslungen zu vermeiden, wurde der Heber und die Fallleitungen der Bellftung im Behalter sowie die
zwei Tullen am Schaltschrank farbig gekennzeichnet:

Bellftung -> blau

Klarwasserheber -> schwarz

Es sind grundsatzlich die Anschliisse mit gleichen Farben miteinander zu verbinden und mit Schlauchbin-
dern zu fixieren. Schlauche in den entsprechenden Farben sind bis zu einem Schlauchdurchmesser von
19 mm lieferbar. Schlduche mit einem Durchmesser von 25 mm gibt es in transparent.

Zur Montage empfehlen wir die Schlauchenden anzuwarmen. Fir eine sichere Flllstandsmessung emp-
fehlen wir, bei der blauen Schlauchtille zur Belliftung diese zusatzlich mit Teflonband zu umwickeln.

Nachdem die Schldauche verlegt und angeschlossen wurden, muss das
Leerrohr mindestens auf der Seite der Steuerung verschlossen werden,
um einen Gasaustausch zwischen Klaranlage und Umgebung des
Schrankes zu vermeiden (Feuchtigkeit, Geriiche).

7.1 Montage GRAF Leerrohrverschluss aus PE-Schaum
Far die XL-Anlagen 12 EW, 15 EW und 19 EW bietet GRAF einen Leerrohrverschluss aus PE-Schaum an.

Schlauche aus dem Leerrohr in die entsprechen- Schlauch durch die diinne oberste Schicht sto3en.
den Loécher in den Leerrohrverschluss einfihren. Der Stanz-Rest bleibt an den Schlauchenden kle-
ben.

187124



mail@graf.info
www.graf.info

8 Inbetriebnahme

Schlauchende abschneiden, um den Stanz-Rest Leerrohrverschluss in das Leerrohr schieben, so
zu entfernen. dass dieses fest verschlossen ist.

7.2 Leerrohrverschluss mit PU-Schaum

Da beim Ausschaumen des Leerrohres mit PU-Schaum leicht undichte Stellen auf-
treten kénnen, wird die Verwendung des GRAF Leerrohrverschlusses aus PE-
Schaum empfohlen.

Die Schlauchoberflachen und Rohrwandungen sind
mit Wasser grob zu reinigen und leicht mit Wasser zu
benetzen.

Beim Ausschaumen ist darauf zu achten, dass jeder
der Schlauche beim Eintragen des PU-Schaumes
von allen Seiten bedeckt wird, zum besseren Eintrag
des Schaums und einer guten Umhdllung der Schlau-
che sind diese beim Eintragen des PU- Schaums
leicht in Langsrichtung zu bewegen.

8 Inbetriebnahme

Zur Inbetriebnahme der Anlage beachten Sie bitte das Betriebsbuch.

197124



mail@graf.info
www.graf.info

9 Anhang

9 Anhang

9.1 Fundamentplan A-Schrank L

T g
165 ".ija e 'r‘j'ﬁ":g:l,

™ =,

98]

250 (.67

200 79—

205 (1187
135 [5.77) |

255 [107)
I—l—-—
275 [10.87]

! ;
e : ' |
Ly — @10 VAT 1
i | /T | B
E §§ 10—, . R

i L5

160 [8.37) | £80 [F-2.57) | 1860 [6.37
+ 1000 [F-3 4 ——|

Schrankfront

Front of the cabinat

avani de ['armaolre

o -
GRAF A-Schrank Metall L + Fundamentplan -
ariceko o,
oa - ES m TawTeOn
GRAF Extarnal sieal cabtinet L GRAF Caja extema L GRAF Armoire extenms L
4 concrate base plate + Haca 08 Dase # plaque de fondation
e Garmicht
sty 150G ght Otlo Gral GmibH
p— — Carlfena=Sir, 28
Ol -
rorm 2021,11.29 e +=3% DE-T0331 Teningen
mailfgrat s
Malaran . Eitsiien  Fe [rh]
e M 1:20 wrilln sl m LS pall weaw gral infp

20/ 124



mail@graf.info
www.graf.info

9 Anhang

9.2 Fundamentplan A-Schrank XL

— 1080 [F-8.57)

&

Ry

ql-—ﬂ:[?’l

s

LY.

1000 [3=3.47
300 [11 5 ————
E I =
s e 8
E | . i | o
o
. o r'. - y
Y3 @200 —" 17 £
&g 210 @10 -, g
g | V \
‘]’ & | |
8
170 |s_?-1-.._._L—1¢ec- :3—.5!1—l__|1u|a ™
T L L T—
4 Schrankiront
Front of the cabinet
avani de larmoire
[ s,
GRAF A-Schrank Metall XL + Fundamentplan et
Nl AR,
=] ES "
GRAF Extermal stesl cabined X1|  GRAF Caja sxtema XL CRAF Afmoing axterne XL [T
+ concrase base plate * placa do bass + plague de fondation
— Isc e Ot Graf GmbH
- Ea— Carl=Zniss=Str, 2
o 2021,11,29 e 4-3% DE-7E331 Teningen
aluta Cirbaten Mo sy mal@gratinio
ity M 120 " il = ,:5 el wewwgralinkc

www.graf.info

21/124
2024-11



mail@graf.info
www.graf.info

Intended and safe use requires you to heed the instructions
and other information in this documentation.

Read the installation instructions carefully before installation, assembly, and
commissioning.
Keep these in a safe place for future reference.

Instructions for installing a
GRAF one2cleanXtra
wastewater treatment system

EAN no. 4023122278962

Issue date 25.11.2024

Translation of the original operating instructions
Original language: German

For any additional items purchased through GRAF, you will receive separate installation instructions in the
transportation packaging.

Check all components for any damage before transferring the system to the pit.

How the system is operated and serviced is described in separate instructions.

Otto Graf GmbH Kunststofferzeugnisse
Carl-Zeiss-StralRe 2 — 6, 79331 Teningen
Germany

Tel. +49 7641 589-0
mail@graf.info  www.graf.info

2217124



mail@graf.info

www.graf.info

Contents

IR S YooY oY o1 =T U] ¢ o |V 24
2 = == £ Vo ] - PPt 26
2.1 Safety 26
2.2 Assembly tools 26
2.3 Aeration and ventilation 26
2.4 Installing the tank 26
3 Design and hoW it WOIKS ......cooiiiiei s s s 27
4  Final installation of the tank dOme ... e nmn e e 28
4.1 Connecting the inlet and outlet pipes 28
5 Installing the interior control cabinet............cccooiiiiiiii e ——— 29
5.1 Selecting the location 29
5.2 Installing the PP cabinet 29
5.3 Installing the steel cabinet type 2 31
5.4 Installing the steel cabinet type 3 33
6 Installing the exterior control cabinet ..o —— 34
6.1 Selecting the location 34
6.2 Electrical connection 34
6.3 Installing the exterior cabinet for PP cabinet 34
6.4 Installing the exterior control cabinet L, plastic 35
6.5 Installing the exterior control cabinet L and XL 35
7  Routing the @ir hOSES.......coi e s mn e e 38
7.1 Fitting the GRAF PE foam empty pipe seal 38
7.2 Sealing the empty pipe with PU foam 39
L= I 0o 11141 == {0 3115 U T 39
L T N 31 s 1= N 40
9.1 Foundation plan for exterior cabinet L 40
9.2 Foundation plan for exterior cabinet XL 41

23/124



mail@graf.info
www.graf.info

1 Scope of supply

1 Scope of supply

The following items are included in the scope of supply:

e Tank with prefitted wastewater treatment system consisting of airlift pumps for aeration and clear
water discharge, as well as a sludge removal pipe and a baffle.

e Telescopic dome shafts designed for pedestrian use, with optional upgrades to support passenger
vehicle traffic or heavy goods vehicle (HGV) loading (additional cost applies).

e Control cabinet with control unit, valves and diaphragm compressor, rotary multivane compressor
or
side channel compressor

The control cabinet is also available as an exterior version.

The following items are not included in the scope of supply:

e Underground drainage pipes for tank connections and empty pipes. The required pipe diameters
can be taken from the technical drawings.

e Hoses to supply air from the control cabinet to the septic tanks. The required air hoses can be
found in Table 1.

For XL systems, hose packages are available, each containing one 13 mm hose and one 19 mm
hose. Alternatively, and for larger systems, the required hoses can be ordered by the reel:

Hose packages for XL systems:

10-metre hose package 107686
20-metre hose package 107688
Reels:

20-metre PVC hose, black, 13 mm 934017
20-metre PVC hose, black, 19 mm 934694
20-metre PVC hose, blue, 19 mm 934020
20-metre PVC hose, transparent, 25 mm 934002

241124



mail@graf.info
www.graf.info

1 Scope of supply

Table 1: Type range with technical data

. Interior control Exterior control Compressor Required

System size Tank . . .
cabinet type cabinet type type air hoses
12 PE 1x 8,500 | PP cabinet | Exterior cabinet for PP | HP 150 Tx 13 mm
1x 19 mm
15 PE 1x 10,000 | PP cabinet | Exterior cabinet for PP | HP 200 Tx 13 mm
1x 19 mm
19 PE 1x 13,000 | PP cabinet | Exterior cabinet for PP | HP 200 113 mm
1x 19 mm
24 PE 1x 16,000 | PP cabinet Exterior cabinet for PP HP 200 2x 19 mm
32 PE 1x 22,000 | Type 2 Exterior cabinet L DT 4.16 2x 19 mm

plastic

45 PE 1x 32,000 | Type 3 Exterior cabinet L steel | 2x HP 200 2x 19 mm
50 PE 1x 38,000 | Type 3 Exterior cabinet L steel | 2x HP 200 2x 19 mm
60 PE 1x 44,000 | Type 3 EXte”Ogt"eaetl"”et XL | R30-MD 5x 19 mm
70 PE 1x 48,000 | Type 3 EXte”ogfeae?'”et XL | R3o-MD 5x 25 mm

257124




mail@graf.info
www.graf.info

2 Please note

2 Please note

2.1 Safety

All work should be undertaken in compliance with national accident prevention regulations. A second
person is required for safety reasons, particularly when climbing into the tank.

In addition, the applicable national regulations and standards must be respected during installation,
assembly, maintenance, repairs etc.

The entire system must always be taken out of operation / switched off and secured against being
accidentally switched back on again whilst any work is carried out on the system or system components.

The tank lid must always be kept closed, except during work inside the tank, otherwise the risk of accidents
is high. Only original GRAF covers, or covers approved by GRAF in writing, are to be used.

GRAF provides an extensive range of accessories, which are all coordinated and can be combined to form
complete systems. The use of other accessories may result in the functionality of the system being impaired
and in liability being revoked for any damage incurred.

2.2 Assembly tools

The tools used to assemble the stainless steel hose clips must themselves be made of stainless steel.
Otherwise, the stainless steel parts may corrode after contacting the non stainless steel tools.

2.3 Aeration and ventilation

All tanks must be aerated and ventilated. Additional ventilation ducts or openings should be arranged if
required. The ventilation ducts should be arranged so that natural ventilation is possible (chimney effect).

2.4 Installing the tank

For installation of Carat XL and Carat XXL tanks, refer to the installation instructions
provided with the tank. Please pay particular attention to the installation conditions.

26/124



mail@graf.info
www.graf.info

3 Design and how it works

3 Design and how it works

The one2cleanXitra is a fully aerated system consisting of one tank.

~—— Sampling unit

Baffle —
—— Clear water lifter
Aeration system
(Disc diffuser)
e W

S Ty

The wastewater treatment system is a fully biological small wastewater treatment system and functions on
the principle of the retention process with extended aeration. The system consists of an aerobic stage,
which is split by a baffle into a solids chamber and aeration chamber, linked together in the lower section.
This process therefore subjects all the domestic wastewater directly to aerobic wastewater treatment.
Blowing in compressed air aerates the entire system, and the sludge aerated in this way biologically cleans
the wastewater.

A more detailed description of the process can be found in the operation manual.

271124



mail@graf.info
www.graf.info

4 Final installation of the tank dome

Pumping system Maximum watef™ |
PIASY level %W—>
The clear water discharge is pumped using an airlift pump —

(mammoth pump principle). The special design of the lifter T-piece
ensures that the minimum water level is precisely defined 47
(see diagram). If the water level drops below the T-piece, no
more water will be pumped.

Minimum water level

Inlet i
Detailed technical drawings of the e T Compressed air

systems are available from Otto Graf
GmbH and are applicable for
assembly and installation.

These drawings also present routing
details for the empty pipes and air
hoses.

Operating principle of the clear water lifter

4 Final installation of the tank dome

For logistics reasons, the wastewater treatment
system is shipped with the preassembled tank
domes and

telescopic dome shafts separate. Refer to the tank’s
installation instructions!

4.1 Connecting the inlet and outlet pipes

The inlet pipe is introduced into the prefitted edge mw

seal from the outside. The end of the pipe should \
project by at least 10 cm into the tank.
The outlet side is connected to a pipe with socket.

28/124



mail@graf.info
www.graf.info

5 Installing the interior control cabinet

5 Installing the interior control cabinet

5.1 Selecting the location

When selecting the location for the control cabinet, the following must be taken into account:

e Height above the highest possible water level in the tank in order to avoid flooding and water
inflow due to gravity in the event of damage or failure.

e The system generates noise! When operating, the air compressor generates continuous noise.

e The control cabinet requires a separately fused electrical connection (16 amps, slow-blow). The
electrical connection serves as a mains isolating device and must be easily accessible at all
times. Additional electrical consumers on the same fuse may disrupt operation.

e The location for the control cabinet should be in a dry, cool and well-ventilated room. The
cabinet, in particular the ventilation openings and the main switch, must not be covered and

must be freely accessible for maintenance work.

e The air hoses should be no longer than 20 metres.

5.2 Installing the PP cabinet

Technical data ~—280—
Protection class: P20 é

Material: PP N

Colour: Black

Dimensions W x H x D [mm]:
420 x 625 x 275

Closure:
Screw lock on the front, in the centre
Electrical connection: u u

Onsite backup fusing required
1~230 V, 50 Hz &

Connections to the control cabinet:
Compressed air connectors: 420—

3x13mm, 1x 19 mm PP cabinet dimensions
Connecting cable with type E+F plug

625

29/124



mail@graf.info
www.graf.info

5 Installing the interior control cabinet

o

Contents of the bag with installation Required tools
materials M10 drill bit
1 Plastic wall plug

13 mm open-ended spanner
TX25 bit for hanger bolt
H2 bit for cabinet cover

Rubber washer
Steel washer
M8x10 hanger bolt
Steel washer
Toothed washer

M8 nut

M4x20 bolt for
childproofing on cover

0 (N[~ jwWIN

The PP cabinet is secured in place with 4 x hanger bolts (4) driven into plugs (1) in the wall. The plain and
toothed washers and nuts are assembled as shown in the above figure.
After assembly, the cover must be secured with the M4x20 bolt. A second bolt is provided as a spare.

Electrical connection

The power socket to which the cabinet is connected must be earthed, protected
by a 16 A fuse via the building installation, and able to be isolated from the

i mains.
Connection

must be fused!

30/ 124



mail@graf.info
www.graf.info

5 Installing the interior control cabinet

5.3 Installing the steel cabinet type 2

Technical data M
a®s
Protection class: 1P44
Material: Sheet steel 1.5 mm, ®
powder coated
Colour: RAL 7032 o OO
Dimensions W x H x D [mm]:
600 x 600 x 330
B T
Overview of parts
‘ L
& i ’. No. Part Quantity
1 1 Metal cabinet 1
| 2 Cabinet key 1
\ 3 M10 wall plug 4
: 4 Wall bracket 4
5 M8 bolt, fine 4
6 Washer 4
7 M8 nut 4
8 M8 bolt 4

ol 60 oo o.

The black plastic key for opening the cabinet is
attached to the main switch on the side. All installation
parts are located inside the cabinet.

Four M10 holes are needed in the wall to attach the
cabinet. Refer to the table for spacing.

31/124



mail@graf.info
www.graf.info

5 Installing the interior control cabinet

Cabinet type W [mm] | H[mm] |
Interior cabinet type 2 630 545 |

Then insert the four M10 wall plugs into the holes.

The wall brackets
should be attached at
the holes in the
cabinet as shown in
the illustration. The
brackets are attached
with the four M8 (fine)
bolts and the
associated washers
and nuts.

Note

For cabinets with
Becker compressors,
the brackets are
already fitted.

Finally, the cabinet is mounted in the previously drilled
holes using the M8 (coarse) bolts.

Alternative:

First, screw the M8 bolts into the wall, leaving 15 mm
protruding. Then, hang the cabinet using the slots in
the wall brackets.

32/124



mail@graf.info
www.graf.info

5 Installing the interior control cabinet

5.4 Installing the steel cabinet type 3
Technical data M

Protection class: P44
Material: Sheet steel 1.5 mm, ®
powder coated
Colour: RAL 7032
H bheP

Dimensions W x H x D [mm]:
800 x 675 x 500

w
=

The control cabinet comes with prefitted rubber-
metal buffers. During installation, ensure the
location is sturdy (e.g. a table), horizontal and level.
No additional means of fixation are needed.

33/124



mail@graf.info
www.graf.info

6 Installing the exterior control cabinet

6 Installing the exterior control cabinet

6.1 Selecting the location

The location must be cool and protected from direct sunlight during the summer months. The sides of the
cabinet must be positioned with at least a 10 cm gap from the nearest wall. If shading is provided on site,
this should be designed with open sides so that the cabinet is sufficiently ventilated and to avoid trapped
heat.

o Height above the highest possible water level in the tank in order to avoid flooding and water
inflow due to gravity in the event of damage or failure.

e The machine cabinet requires a separately fused electrical connection (16 amps, slow-blow).
Additional electrical consumers on the same fuse may disrupt operation.

e The system generates noise! When operating, the air compressor generates continuous noise.

e The air hoses should be no longer than 20 metres.

6.2 Electrical connection

The electrical connection of the control cabinet must only be carried out by a
qualified electrician!
An underground cable must be laid to the cabinet for the power supply. This cable
must be protected by a 16 A fuse via the building installation, and able to be
Connection isolated from the mains.
must be fused!

6.3 Installing the exterior cabinet for PP cabinet

Separate instructions for the installation and assembly of the
exterior control cabinet for PP interior control cabinet are
provided with the exterior control cabinet and must be observed
during installation.

oy r-l
PP control cabinet, Plastic exterior control cabinet
supplied for PP control cabinet (optional)

34 /124



mail@graf.info
www.graf.info

6 Installing the exterior control cabinet

6.4 Installing the exterior control cabinet L, plastic
Technical data
Protection class: P44

Material: GRP PE
Colour: RAL 7035

L
i

Lill

Dimensions (W x H x D [mm])
585 x 1745 x 315

The plastic column intended for outdoor installation should be sunk into the ground
up to the mark on the front of the cabinet. For this purpose, a sufficiently deep
excavation of around 600 to 640 mm must be provided at the planned location.

The empty pipe with the air hoses must be routed into the prepared pit.

The foundation base must be assembled according to the accompanying
assembly instructions.

The cabinet must then be inserted vertically into the pit to a depth of approx. 60—
64 cm. Make sure that the cabinet is stable and secure and is installed vertically
in the excavation.

To reduce ground moisture, fill the empty space inside the base with suitable base
filling granulate (order no. 107607). The filling material can remain in the cabinet base permanently and
does not need to be changed.

A cabinet open to the surrounding ground may result in corrosion damage
to the electrical components in the event of high levels of ground moisture!

6.5 Installing the exterior control cabinet L and XL

Technical data - B - T -
Protection class: 1P44 L ] F:’_:j
Material: Sheet steel 1.5 mm,

powder coated
Colour: RAL 7032

i i |

Dimensions (W x H x D [mm])
L: 765 x 880 x 660 [ ]
XL: 1140 x 1080 x 720
Foundation: Full foundation, provided | -

by customer -

35/124



mail@graf.info
www.graf.info

6 Installing the exterior control cabinet

Foundation and relocation

No.

Part

Quantity

Metal cabinet L or XL

M8 bolt

M10 wall plug

Washer

A WIN|—=

M16 eye bolt

R

Q

Four M16 eye bolts are provided for
relocating the cabinet. Before fitting the
eye bolts to the cabinet, remove the fitted
canopy and the poly plugs from the eye
bolt mounts. After relocating, reinsert the
poly plugs and screw the canopy back
on. Secure the control cabinet to the
foundation with the four supplied M8
bolts.

250 mm

= [ Before installation, a solid foundation
must be prepared.
See page 40 for foundation plans.

o) 4

250 mm

36/ 124



mail@graf.info
www.graf.info

6 Installing the exterior control cabinet

390

&80
I
d
E] 3 \ +® 1229 171
1400
o |25 | < ¥
g = 1000
Exterior cabinet L Exterior cabinet XL
:.I- l?
M10 holes
Ul / \

]

e
[
°
R

371124

When the foundation is being cast, the
drawn dimensions must be adhered to,
particularly the position of the hole(s)
through which the hoses will be routed
later.

There are four M10 holes in the cabinet
base. These holes must be extended into
the concrete foundation below.

Insert the M10 wall plugs into the holes.
Secure the control cabinet using the four
M8 bolts along with the washers.



mail@graf.info
www.graf.info

7 Routing the air hoses

7 Routing the air hoses

The aeration system and the airlift pumps must be connected to the valve strip in the control cabinet. The
two air hoses are routed to the planned cabinet site through the empty pipe laid in the ground. They must
be shortened so that they are free of strain and cannot kink.

When connecting, make sure that the hoses are attached to the correct connectors. To avoid confusion,
the lifter and the aeration downpipes in the tank, and the two connectors on the control cabinet have all
been colour coded:

Aeration > Blue

Clear water lifter > Black

As a general rule, the connections with the same colours must be attached to one another and fixed with
hose clamps. Hoses can be supplied in the relevant colour up to a hose diameter of 19 mm. Hoses with a
diameter of 25 mm are available in transparent.

We recommend heating the hose ends for fitting. To ensure reliable level measurements, we recommend
additionally wrapping Teflon tape around the blue hose connector for aeration.

Once the hoses have been laid and attached, the empty pipe must be
sealed at least on the control unit side in order to avoid gas exchange
between the wastewater treatment system and the surroundings of the
cabinet (moisture, odours).

7.1  Fitting the GRAF PE foam empty pipe seal
For the 12 PE, 15 PE and 19 PE XL systems, GRAF offers an empty pipe seal made of PE foam.

Insert the hoses from the empty pipe into the Push the hose through the thin top layer. A plug of
appropriate holes in the empty pipe seal. material remains stuck in the end of the hose.

38/124



mail@graf.info
www.graf.info

Cut off the end of the hose to remove this plug. Push the empty pipe seal into the empty pipe to
ensure a tight seal.

7.2 Sealing the empty pipe with PU foam

As leaks can occur when filling the empty pipe with PU foam, we recommend using
the GRAF empty pipe seal made of PE foam.

Clean the hose surfaces and pipe walls of dirt and
debris, and wet them slightly with water. When filling
the pipe with PU foam, ensure that each hose is
covered on all sides. For better filling and coating,
move the hoses slightly in the longitudinal direction
while introducing the PU foam.

8 Commissioning

Please consult the operation manual when commissioning the system.

39/124



mail@graf.info
www.graf.info

9 Annex

9.1 Foundation plan for exterior cabinet L

T g
765 e 'r‘z'ffﬂ:,u

e "

98]

250 (.67

200 (79—

205 (1187
135 [5.77) |

255 [107)
I—l—-—
275 [10.87]

_ ;
L . . .
o — @10 YA 1
i | /T | B
E §§ 10—, . 8

i L5

160 [8.37) | £80 [F-2.57) | 1860 [6.37
+ 1000 [F-3 4 ——|

Schrankfront

Front of the cabinat

avani de ['armaolre

o -
GRAF A-Schrank Metall L + Fundamentplan -
ariceko o,
oa - ES m TawTeOn
GRAF Extarnal sieal cabtinet L GRAF Caja extema L GRAF Armoire extenms L
4 concrate base plate + Haca 08 Dase # plaque de fondation
e Garmicht
sty 150G ght Otlo Gral GmibH
p— — Carlfena=Sir, 28
Ol -
rorm 2021,11.29 e +=3% DE-T0331 Teningen
mailfgrat s
Malaran . Eitsiien  Fe [rh]
e M 1:20 wrilln sl m LS pall weaw gral infp

40/124



mail@graf.info
www.graf.info

9.2 Foundation plan for exterior cabinet XL
4140 -89 ; Fog,
- By
ﬁ . oo
B | i
|_.\_\_-'.‘\ H“"; 4
- 8.8
: — i
~
. e =]
)
2
(-
Ed
b 0] [ F=3.47
300 [11 B p———
k I =
s e g
§ — L i3
b (2]
. o i\ i
w @200 =" £
&g 210 @10 -, g
g \
E
170 |s_?-1-__|-—1oea :3—.5!'1—.1.._..41“& ™
1400 5T, 1 —
4 schrankiront
Front of the cabinet
avani de larmoire
[5] A,
GRAF A-Schrank Metall XL + Fundamentplan et
Nl AR,
b [E] L
GRAF Exiernal siesl cabined XL|  GRAF Caja sxterna XL CRAF Afmoing axterne XL [T
+ concrase base plate * placa do bass + plague de fondation
T Isc ey Oiio Graf GmbH
- Ea— Carl=Zniss=Str, 2o
aie 20211129 e 3% DE-79331 Teningen
™ — - maslxgral.inio
,,ﬁf‘" M 120 ::.:Mﬂ ::lﬂ,r?wl wewhar gralinko

www.graf.info

417124




mail@graf.info
www.graf.info

Pour une utilisation correcte et sire, veuillez suivre les
instructions et consignes énoncées dans le présent
document.

Lisez attentivement les instructions d’installation avant I'installation, le montage
et la mise en service.
Conservez-les pour toute référence ultérieure.

Notice d'installation d’'une
micro-station d'épuration GRAF
one2cleanXtra

N° EAN 4023122278962
Date d'édition 25/11/2024
Mode d'emploi traduit
Langue originale : allemand

Vous trouverez les notices de montage des autres éléments fournis jointes dans I'emballage.
Avant de les transférer dans la fouille, vérifiez impérativement si les composants sont endommagés.
L’exploitation et la maintenance de l'installation sont décrites dans une notice séparée.

Otto Graf GmbH Kunststofferzeugnisse
Carl-Zeiss-Strasse 2 — 6, 79331 Teningen
Allemagne

Tél. : +49 7641 589-0
mail@graf.info  www.graf.info.info

421124



mail@graf.info
www.graf.info

Table des matieres

Table des matiéres

1 1B Y=Y =Y B Y - PO 44
2 04 4 =1 o [ = 46
2.1 Sécurité 46
2.2 Outillage de montage 46
2.3 Apport et évacuation d’air 46
2.4 |Installation des réservoirs 46
3  Description et principe de fonctionnement................iiii i ————— 47
4 Montage final du dOmMe dU FESEIVOIr .........ciiieecierrrriererrsererssser e e ss e e s e s sse e e e s ssn e e s s sne e e essnreeenssnnenes 48
4.1 Raccordement des tuyaux d’entrée et d’évacuation 48
5 Montage de I'armoire électrique iNtErieuUre...........cco v eciiiccecee e 49
5.1 Emplacement 49
5.2 Montage de I'armoire en PP 49
5.3 Montage d'armoire en acier type 2 51
5.4 Montage d’armoire en acier type 3 53
6 Installation de I'armoire électrique exterieUre..........ooooiriicecirrrcecre e 54
6.1 Emplacement 54
6.2 Raccordement électrique 54
6.3 Montage de I'armoire électrique extérieure pour I'armoire PP 54
6.4 Montage de I'armoire électrique extérieure L en plastique 55
6.5 Montage de I'armoire électrique extérieure L et XL 55
7  Pose des fleXibles @ @ir........cociiiiiiiiccri e 58
7.1 Montage du bouchon GRAF en mousse de PE pour tube vide 58
7.2 Bouchon en mousse de PU pour tube vide 59
I (L= =T 4 B =Y o = RPN 59
L T N 31 s - - N 60
9.1 Plan des fondations Armoire extérieure L 60
9.2 Plans des fondations de I'armoire extérieure XL 61

43/124



mail@graf.info
www.graf.info

1 Matériel livré

1 Matériel livré

Eléments inclus dans le matériel livré :

e Réservoir avec technique d'épuration prémontée comprenant un |évier pour I'apport d'air et I'éva-
cuation des eaux claires, ainsi qu'un tube de prélévement des boues et une paroi plongeante.

e Rehausse télescopique compatible avec le passage des piétons. En option : compatible avec le
passage voitures, ou camions (moyennant supplément).

e Armoire électrique avec commande, vannes et compresseur a membrane, compresseur a palettes
ou
compresseur a canal latéral.

En option, 'armoire électrique est disponible comme armoire électrique externe.

Matériel non inclus dans le matériel livré :

e Tvaux PVC pour raccorder la cuve. Les diamétres nécessaires des tubes figurent dans les dessins
techniques.

e Flexibles affectés a I'alimentation en air entre I'armoire électrique et les réservoirs de décantation.
Les flexibles a air requis peuvent étre consultés dans le Tableau 1.

Pour les installations XL, il existe des packs tuyaux avec respectivement 1 x 13 mm et 1 x

19 mm. A titre d'alternative et pour les installations plus importantes, les tuyaux nécessaires peu-
vent étre commandés en rouleaux.

Paquets de flexibles pour les installations XL :

Packs tuyaux de 10 métres 107686

Packs tuyaux de 20 métres 107688

Produits vendus en rouleaux :

Tuyau PVC de 20 métres, noir, 13 mm 934017
Tuyau PVC de 20 métres, noir, 19 mm 934694
Tuyau PVC de 20 meétres, bleu, 19 mm 934020
Tuyau PVC de 20 métres, transparent, 25 mm 934002

441124



mail@graf.info
www.graf.info

1 Matériel livré

Tableau 1 : Gamme des types avec caractéristiques techniques

Taille de I'ins- , . ’Type.Armfnre? Type Armoire élec- Type Tuyau d’ air
. Réservoir | électrique inté- ) . Compres- .
tallation . trique extérieure requis
rieure seur
12 EH 1% 8 500 L Armoire PP Armoire extérieure pour HP 150 1x 13 mm
PP 1x 19 mm
15 EH 1x10000L | Armoire Pp | /AATmoire extérieure pour | 5 54, Tx 13 mm
PP 1x 19 mm
19 EH 1X13000L | Armoire PP | Armoire extérieure pour| 5 5, 1x 13 mm
PP 1x 19 mm
24 EH 1x 16 000 L Armoire PP | ATmoire eXFt,‘;“e“re POUT! 1P 200 2x 19 mm
32 EH 1x 22 000 L Type 2 Armoire extérieure L en | nr 4 46 2x 19 mm
plastique
45 EH 1x 32 000 L Type 3 Armoire exterieure Len | oxHP200|  2x 19 mm
50 EH 1x 38 000 L Type 3 Armoire exterieure Len| o HP200| 2x19 mm
60 EH 1x 44 000 L Type 3 Armoire extérieure XL | pan D | 5x 19 mm
en acler
70 EH 1x 48 000 L Type 3 Armoire extérieure XL | pag \p | 5x 25 mm
en acler

457124




mail@graf.info
www.graf.info

2 Consignes

2.1 Sécurité

Lors de tous travaux, les prescriptions nationales de prévention des accidents applicables doivent étre
respectées. Lors de la visite des réservoirs, une deuxiéme personne devra impérativement étre présente
par mesure de sécurité.

En outre lors de linstallation, du montage, de la maintenance, de réparations, etc., il faut tenir compte des
prescriptions et normes nationales en vigueur.

Lors de tous travaux sur I'installation ou des parties de I'installation, toujours mettre 'ensemble de I'instal-
lation hors service et la sécuriser pour empécher son réenclenchement.

Sauf pendant des travaux dans le réservoir, le couvercle de réservoir doit toujours étre maintenu fermé ;
trés haut risque d’accident dans le cas contraire. Seuls les capots d’origine fournis par GRAF ou autorisés
par écrit par GRAF peuvent étre utilisés.

La société GRAF propose un vaste assortiment d’accessoires tous complémentaires et qu'il est possible
de configurer en systéemes complets. L'utilisation d’accessoires autres que d’origine peut compromettre le
fonctionnement de l'installation et rendre caduque toute responsabilité envers les dommages consécultifs.

2.2 Outillage de montage

L’outillage destiné au montage des colliers des flexibles en acier inoxydable doit également étre en acier
inoxydable. Dans le cas contraire, les piéces en acier inoxydable entrées en contact avec I'outillage d’une
matiére différente risquent de rouiller.

2.3 Apport et évacuation d’air

De l'air doit étre apporté a tous les réservoirs et doit en étre évacué. Si nécessaire, il faudra disposer des
conduites d’aération ou orifices d’aération supplémentaires. Dans ce cas, les conduites d’aération doivent
étre disposées de sorte a permettre une aération naturelle (effet cheminée).

2.4 Installation des réservoirs

Pour le montage des réservoirs Carat XL et Carat XXL, il convient de respecter les
instructions de montage des réservoirs. Veuillez notamment respecter les condi-
tions de montage des réservoirs.

46 /124



mail@graf.info
www.graf.info

3 Description et principe de fonctionnement

3 Description et principe de fonctionnement

Le one2cleanXtra est une installation entierement ventilée composée d'un seul réservoir.

Entrée w

Bac de Préléve-
ment

Paroi
plongeante

=

Colonne d’évacuation

d’eau claire
Systéme d’aération (Pla-
teaux membranes)
(Aérateur assiette)

S Ty

La micro-station d’épuration One2Clean est une micro-station d’épuration entierement biologique ; elle
fonctionne selon le procédé de boues activées par aération prolongée La zone de décantation est séparée
de la zone d’aération par une paroi siphoide (aussi appelée paroi de séparation); ces deux zones commu-
niquent en partie basse de la cuve. Dans ce processus, 'ensemble des eaux usées domestiques est im-
médiatement soumis a un traitement aérobie. Toute la micro-station est aérée, par injection d’air comprimé,
et les boues activées traitent ainsi I'intégralité des eaux usées de fagon biologique.

471124

Vous trouverez une description précise du procédé dans le carnet d'exploitation.



mail@graf.info
www.graf.info

4 Montage final du dome du réservoir

Systéme de transport Niveau d'eau [ |
maximal = >

Le pompage par l'extracteur d'eau claire s'effectue a l'aide —
d'un élévateur pneumatique (principe de l'airlift). De par la Pieceen T
ﬁﬂ[%n

conception spéciale du dispositif élévateur, le niveau d’eau
minimum est exactement défini (voir la figure ci-contre).
Lorsque le niveau d’eau descend en dessous de la piéce en
T, 'eau n’est plus refoulée.

= Niveau d'eau
minimum

Admission Air comprimé

“—

Des dessins techniques détaillés de
I'installation sont disponibles auprés
de la société Otto Graf GmbH ; ils
font foi quant au montage et a I'incor-
poration.

Ces dessins contiennent aussi des
détails concernant la pose des tubes

vides et des flexibles a air. Principe de fonctionnement du dispositif d’évacua-
tion d’eau claire

4 Montage final du dome du réservoir

=8
i o
2NN 2B H RN
/ \

Pour des raisons logistiques, I'expédition de la sta-

tion d'épuration se fait sans déme de réservoir pré-

monté et sans

rehausses télescopiques. Pour le montage, respec-
ter les instructions de montage du réservoir.

4.1 Raccordement des tuyaux d’entrée et d’évacuation

Le tuyau d’entrée est guidé de I'extérieur dans le
joint a lévre pré-monté. L'extrémité du tuyau doit en-
trer d’au moins 10 cm dans le réservoir.

Le coté évacuation est raccordé a l'aide d’'un tube a
manchon.

4817124



mail@graf.info
www.graf.info

5 Montage de I’armoire électrique intérieure

5 Montage de I'armoire électrique intérieure

5.1 Emplacement
Lors de la sélection de 'emplacement de I'armoire électrique, vous devez tenir compte de ceci :

e Hauteur supérieure au niveau d’eau le plus élevé possible dans le réservoir, afin d’éviter en
cas d’avarie les inondations et afflux d’eau sur les surfaces d’écoulement libre.

e Le fonctionnement est générateur de bruits | Le compresseur a air en service génere un bruit
permanent.

e L’armoire électrique nécessite un raccordement électrique protégé séparément par fusible
(16 ampeéres, temporisé). Le raccordement électrique sert de dispositif de coupure du secteur
et doit étre en permanence facile d’'accés. Des consommateurs électriques supplémentaires
raccordés au méme fusible peuvent perturber le fonctionnement.

e L'armoire électrique doit se trouver dans un local sec, frais et bien ventilé. L’armoire, et en
particulier les orifices de ventilation ainsi que I'interrupteur principal, ne doivent pas étre recou-
verts et doivent étre librement accessibles pour les travaux de maintenance.

e Les flexibles a air ne doivent pas mesurer plus de 20 meétres !.

5.2 Montage de I'armoire en PP

Caractéristiques techniques —~—280—

Classe de protection : 1P20
Matériau : PP
Couleur : noir

275+

Dimensions L x H x P [mm] :
420 x 625 x 275

Fermeture :
Sécurisation par vis sur le devant, au centre

Lo}
Raccordement électrique : n n Q
Fusible/disjoncteur nécessaire coté batiment
Monophasé 230 V, 50 Hz @
Raccordements a I'armoire électrique : —
Gaines pour air comprimé : -~ 420—=
3x13mm 1x 19 mm Dimensions de I'armoire en PP

Ligne de raccordement avec fiche de type E+F

4917124



mail@graf.info
www.graf.info

5 Montage de I’armoire électrique intérieure

UG,, _ s

Contenu du sachet avec matériel de mon- Outillage requis
tag e1 Chovil st Foret M10

> R e:;' ITS eh plas th::e Clé plate calibre 13

ondete en caf)u choue Embout TX25 pour vis a double filetage
3 Rondelle en acier ; :

- - Embout H2 pour couvercle d’armoire
4 Vis a double filetage M8x10
5 Rondelle en acier
6 Rondelle dentée
7 Ecrou M8
8 Vis M4x20 assurant la

sécurité enfants pour le couvercle

La fixation de I'armoire en PP s’effectue avec 4 vis a double filetage (4) fixées dans le mur avec des che-
villes (1). Les rondelles, rondelles dentées et les écrous doivent &tre montés conformément a la figure ci-
dessus.

Apres le montage, il faut sécuriser le couvercle avec la vis M4x20. Une seconde vis est livrée d’origine a
titre de remplacement.

Raccordement électrique

La prise destinée a I'armoire doit étre raccordée a la terre, elle doit étre proté-
gée par un fusible/disjoncteur 16A de I'installation électrique domestique et

doit pouvoir étre débranchée du secteur.
Protéger

le raccordement !

50/ 124



mail@graf.info
www.graf.info

5 Montage de I’armoire électrique intérieure

5.3 Montage d'armoire en acier type 2

Caractéristiques techniques ]

SIE)
Classe de
protection : P44 ®
Matériau : Téle d’acier de 1,5mm

peinte par poudrage
Couleur : RAL 7032 i OO
Dimensions L x Hx P [mm] :
600 x 600 x 330
B T
Apercu des piéces
Piece Nbre

@
-
4
o

Armoire métallique
Clé d'armoire
Cheville murale M10
Support mural

Vis M8 fine
Rondelle

Ecrou M8

Vis M8

o|~|o|o||w(N|=
IS NS NG ) NG N N

ol 60 oo o.

La clé noire en plastique nécessaire pour ouvrir I'ar-
moire est fixée latéralement sur l'interrupteur principal.
Tout le matériel de montage se trouve a l'intérieur de
I'armoire.

Pour suspendre I'armoire, il faut percer quatre trous
M10 dans le mur. Les espacements sont mentionnés
dans le tableau.

51/124



mail@graf.info
www.graf.info

5 Montage de I’armoire électrique intérieure

Type d'armoire L [mm] H [mm]
Armoire intérieure, 630 545
type 2

Ensuite, introduire les quatre chevilles M10 dans les
trous.

Il faut fixer les sup-
ports muraux contre
les trous de I'armoire,
comme indiqué sur la
figure. Les fixations
sont retenues par
quatre vis M8 (de pré-
cision), les rondelles
et les écrous affé-
rents.

Remarque

Sur les armoires a
compresseurs
Becker, les fixations
sont déja
prémontées.

Pour terminer, fixer lI'armoire a l'aide des vis M8
(grossiéres) dans les trous préalablement ménagés.

Alternative :

Visser préalablement les vis M8 dans le mur jusqu'a
15 mm, puis accrocher l'armoire dans les supports
muraux a l'aide des fentes.

521124



mail@graf.info
www.graf.info

5 Montage de I’armoire électrique intérieure

5.4 Montage d’armoire en acier type 3

Caractéristiques techniques

Classe de
protection :
Matériau :

Couleur :

IP44

Téle d’acier de 1,5 mm
peinte par poudrage
RAL 7032

Dimensions L x Hx P [mm] :
800 x 675 x 500

@
H SEASERSEAS
B N T

L’'armoire électrique est livrée déja équipée de
tampons métallo-caoutchouc prémontés. Lors de
I'implantation, il faut veiller a ce que 'emplacement
soit robuste (table p. ex.), horizontal et plan.
Aucune fixation supplémentaire n’est nécessaire.

53/124



mail@graf.info
www.graf.info

6 Installation de I'armoire électrique extérieure

6 Installation de I'armoire électrique extérieure

6.1 Emplacement

L’emplacement devra étre frais et protégé pendant les mois d’été contre I'ensoleillement direct. Un espace
libre d’au moins 10 cm entre les cbtés de I'armoire et la paroi la plus proche est nécessaire. Si un systéme
d’'ombrage est prévu par le client, il doit étre congu ouvert sur les cotés afin de ventiler suffisamment I'ar-
moire et d'éviter 'accumulation de chaleur.

e Hauteur supérieure au niveau d’eau le plus élevé possible dans le réservoir, afin d’éviter en
cas d’avarie les inondations et afflux d’eau sur les surfaces d’écoulement libre.

e |’armoire machine nécessite un raccordement électrique protégé séparément par fusible
(16 ampeéres, temporisé). Des appareils électriques supplémentaires raccordés au méme fu-
sible peuvent perturber le fonctionnement.

e Le fonctionnement est générateur de bruits. Le compresseur a air en service génére un bruit
permanent.

e Les flexibles a air ne doivent pas mesurer plus de 20 meétres.

6.2 Raccordement électrique

Le raccordement électrique de I’armoire est une opération exclusivement ré-
servée a un électricien professionnel !
Pour I'alimentation électrique, il faut faire arriver un cable enterré a 'armoire. Via
I'installation électrique domestique, ce cable doit étre protégé par un fusible
Protéger de 16 ampeéres et doit pouvoir étre débranché du secteur.
le raccordement

6.3 Montage de I’armoire électrique extérieure pour I'armoire PP

Des instructions séparées pour l'installation et le montage de I'ar-
moire électrique extérieure pour l'armoire intérieure PP sont
jointes a I'armoire électrique extérieure et doivent impérativement
étre respectées pour le montage.

i
] '\\-”"
a 4 | 14

Armoire électrique en  Armoire électrique extérieure en matiére
PP, incluse dans le plastique pour armoire électrique en PP
matériel livré (optionnel)

o

541124



mail@graf.info
www.graf.info

6 Installation de I'armoire électrique extérieure

6.4 Montage de I’'armoire électrique extérieure L en plastique

Caractéristiques techniques

Classe de o
protection : P44 Il !
Matériau : PRV PE I
Couleur : RAL 7035 i

i

Lill

Dimensions (L x H x P [mm])
585 x 1745 x 315

La colonne en plastique prévue pour l'implantation en plein air doit étre plantée
dans le sol jusqu'au repére situé sur le c6té avant de I'armoire. Pour cela, il faut
prévoir une excavation suffisamment profonde d'environ 600 a 640 mm sur le site
prévu.

Dans la fosse ainsi préparée, faire passer le tube vide contenant les flexibles a air

Le socle de fondation doit étre assemblé conformément aux instructions de mon-
tage jointes.

Ensuite, Il faut introduire I'armoire verticalement jusqu'a une profondeur d'env. 60-
64 cm dans la fosse. Il faut veiller a ce que I'armoire repose de maniére sdre,
fermement et a la verticale dans I'excavation.

Pour réduire I'numidité de la terre, remplir de granulé de comblement (n° de réf. 107607) la cavité encore
présente dans le pied du socle. Ce matériau de comblement peut rester en permanence au fond de I'armoire
et il n'est pas nécessaire de le remplacer.

Si I'armoire est en contact avec le sol et n'est pas obturée, les composants
électriques risquent de s’endommager par corrosion en présence d'une hu-
midité élevée.

6.5 Montage de I’'armoire électrique extérieure L et XL

Caractéristiques techniques

T B 1T T T -
Classe de | | —— ]
protection : IP44
Matériau : Tole d’acier de 1,5 mm
peinte par poudrage
Couleur : RAL 7032

Dimensions (L x H x P [mm]) —_—

L: 765x880x660

XL: 1140 x 1080 x 720

Fondations : Fondations intégrales
incombant au client

55/124



mail@graf.info
www.graf.info

6 Installation de I'armoire électrique extérieure

Fondations et déplacement

=
)

Piece Nbre
Armoire métallique L ou XL
Vis M8

Cheville M10

Rondelle

Vis a anneau M16

A WIN|—=
IR e

o Quatre vis a anneaux M16 sont livrées
d’origine pour déplacer I'armoire. Avant
de fixer les vis a anneaux sur I'armoire, il
faut retirer le toit de protection pluie et re-
tirer les bouchons en matiére synthé-
tique des logements des vis a anneaux.
Apres le déplacement, il faut remettre les
I bouchons en matiére synthétique en
place et visser le toit de protection pluie.
L’armoire électrique doit étre fixée aux
fondations par 4 vis M8 (livrées d’ori-

gine).
= Avant l'implantation, il faut préparer pro-
[ fessionnellement une fondation continue
= ou intégrale.
= Plans des fondations : voir page 60.
= _\L

56 /124



mail@graf.info
www.graf.info

6 Installation de I'armoire électrique extérieure

255
+

X

1229 171

1400

295

160 o

1000

Armoire extérieure L

Armoire extérieure XL

=

27

/

Trous M10

/@ 5
T~

]

e

.
IS B

571124

Au moment de couler les fondations, les
cotes portées sur le dessin doivent étre
respectées, en particulier la position du
trou/des trous par le(s)quel(s) passeront
les flexibles ultérieurement.

Sur le fond de l'armoire se trouvent
quatre alésages M10. Ces trous doivent
ensuite étre reportés sur les fondations
en béton sous 'armoire.

Mettre les chevilles M10 en place dans
les trous. Fixer l'armoire électrique a
I'aide des quatre vis M8 (avec les ron-
delles).



mail@graf.info
www.graf.info

7 Pose des flexibles a air

7 Pose des flexibles a air

Les dispositifs de ventilation et I'élévateur pneumatique doivent étre raccordés a la barre de vannes dans
I'armoire électrique. Il faut approcher les deux flexibles a air du site prévu de I'armoire via le tube vide
enterré. Il faut raccourcir les flexibles de sorte qu'ils ne soient exposés a aucune tension mécanique et
qu'aucune pliure ne puisse se produire.

Au moment de raccorder, il faut veiller a raccorder les flexibles aux gaines correctes. Pour éviter les con-
fusions, I'élévateur et les conduites de descente de I'apport d’air dans le réservoir ainsi que les deux gaines
comportent un repérage couleur sur I'armoire électrique :

Aération > bleu

colonne d’évacuation d’eau claire -> noir

Il faut par principe relier ensemble les raccords de méme couleur et les immobiliser avec des colliers pour
flexibles. Des flexibles dans les couleurs correspondantes sont disponibles jusqu'a un diametre de 19 mm.
Les tuyaux d'un diamétre de 25 mm sont disponibles en version transparente.

Pour le montage, nous recommandons d'échauffer les extrémités de flexibles. Pour une mesure slre du
niveau nous recommandons, pour la gaine de flexible bleue servant a I'aération, d’enrouler en plus du ruban
en téflon dessus.

Une fois les tuyaux posés et raccordés, le tube vide doit étre obturé au
moins du c6té de la commande afin d'éviter tout échange de gaz entre
la station d'épuration et I'environnement de I'armoire (humidité, odeurs).

7.1 Montage du bouchon GRAF en mousse de PE pour tube vide

Pour les installations XL de 12 EH, 15 EH et 19 EH, GRAF propose un bouchon en mousse de PE pour
tube vide.

Introduire les flexibles sortant du tube vide dans les Forcer le flexible a passer a travers la couche su-
trous correspondants du bouchon pour tube vide.  périeure mince. Le résidu de perforation reste collé
contre les extrémités des flexibles.

58/ 124



mail@graf.info
www.graf.info

8 Mise en service

Couper I'extrémité du flexible pour retirer le résidu  Pousser le bouchon dans le tube vide afin d’obturer
de perforation. fermement ce dernier.

7.2 Bouchon en mousse de PU pour tube vide

Puisque des zones non étanches risquent d’apparaitre lors du garnissage du tube
vide avec la mousse de PU, I'utilisation du bouchon GRAF en mousse de PE pour
tube vide est recommandée.

Les surfaces de flexible et les parois de tube doivent
étre grossiérement nettoyées et Iégérement mouil-
|ées avec de 'eau.

Lors du moussage, il faut veiller a ce que chacun des
flexibles soit recouvert sur tous les c6tés lors de I'in-
troduction de la mousse ; pour mieux introduire la
mousse et parvenir a un bon enveloppement des
flexibles, il faut les déplacer légérement dans le sens
longitudinal durant l'injection de la mousse de PU.

8 Mise en service

Pour la mise en service de la station, veuillez respecter le contenu du manuel d’ins-
tructions.

59/124



mail@graf.info
www.graf.info

9 Annexe

9.1 Plan des fondations Armoire extérieure L

T g
765 e 'r‘z'ffﬂ:,u

e "

98]

250 (.67

200 (79—

205 (1187
135 [5.77) |

255 [107)
I—l—-—
275 [10.87]

_ ;
L . . .
o — @10 YA 1
i | /T | B
E §§ 10—, . 8

i L5

160 [8.37) | £80 [F-2.57) | 1860 [6.37
+ 1000 [F-3 4 ——|

Schrankfront

Front of the cabinat

avani de ['armaolre

o -
GRAF A-Schrank Metall L + Fundamentplan -
ariceko o,
oa - ES m TawTeOn
GRAF Extarnal sieal cabtinet L GRAF Caja extema L GRAF Armoire extenms L
4 concrate base plate + Haca 08 Dase # plaque de fondation
e Garmicht
sty 150G ght Otlo Gral GmibH
p— — Carlfena=Sir, 28
Ol -
rorm 2021,11.29 e +=3% DE-T0331 Teningen
mailfgrat s
Malaran . Eitsiien  Fe [rh]
e M 1:20 wrilln sl m LS pall weaw gral infp

60/ 124



mail@graf.info
www.graf.info

9.2 Plans des fondations de I'armoire extérieure XL
4140 -89 ; Fog,
- By
ﬁ . 2 |
g | i
|_.\_\_-'.‘\ H“"; 4
S 3.9
: — i
~
. e =]
)
2
(-
&
————— 1000 [3-3.47
300 [11 B p———
E — =
s i g
8 - | |=
. ]
. o i\ A
Y 3 @200 —" 17 £
&g 210 @10 -, g
8 N
E
170 |s_?-1-..__L—1oe¢ :3—.5!1—1__|1n|a ™
1400 [T, 1 ——— ]
4 schrankiront
Front of the cabinet
avani de larmoire
[5] A,
GRAF A-Schrank Metall XL + Fundamentplan et
Nl AR,
o [E] L
GRAF Extermal stesl cabined X1|  GRAF Caja sxtema XL CRAF Afmoing axterne XL [T
+ concrase base plate * placa do bass + plague de fondation
T Isc ey Oiio Graf GmbH
- Ea— Carl=Zniss=Str, 2o
aie 20211129 e 3% DE-TE Teningen
™ p— - | gralinfo
,,ﬁf‘" M 120 ::.:Mﬂ ::lﬂ,r?wl wewhar gralinko

www.graf.info

61/124




mail@graf.info
www.graf.info

Para un uso correcto y seguro, siga las instrucciones e
indicaciones de este documento.

Lea detenidamente las instrucciones de montaje antes de la instalacidon, montaje
y puesta en servicio.
Conserve este documento para futura referencia.

Instrucciones para la instalacion de una
depuradora compacta GRAF
one2cleanXtra

N.° EAN 4023122278962

Fecha de emision 25.11.2024

Traduccién al espafiol de las instrucciones de servicio
Idioma original: Aleman

Para todos los articulos adicionales adquiridos a través de GRAF, recibira instrucciones de instalacién especificas
dentro de los embalajes de transporte.
Antes de trasladar el producto a la excavacion, examine sin falta los componentes para detectar cualquier posible

desperfecto.
El funcionamiento y mantenimiento de la instalacion se describen en el manual separado.

Otto Graf GmbH Kunststofferzeugnisse
Carl-Zeiss-StralRe 2 — 6, 79331 Teningen
Alemania

Tel. +49 7641 589-0
mail@graf.info  www.graf.info

62/124



mail@graf.info
www.graf.info

indice de contenido

indice de contenido

1 Volumen de SUMINISTIO......cccoiiiiiiiii s s s s s s s s s s s s s e s e s e s e s e s e s e s e s e e e s e e e e e e e e e e nensnsnsnsnsnns 64
2 15 T o= o T o 1= e 66
2.1 Seguridad 66
2.2 Herramientas de montaje 66
2.3 Aireacién y ventilacion 66
2.4 Instalacién de los depésitos 66
3  Estructura y principio de funcionamiento ...........ccccverecorircicerssesere e 67
4  Montaje final de la cipula del dePOSItO ........cccceerrerieirrrrrerrrr e e e e meens 68
4.1 Conexion de los tubos de entrada y de salida 68
5 Montaje de la unidad de control iNterior.........cccccciiiiiee i 69
5.1 Eleccion de la ubicacion 69
5.2 Montaje del armario de PP 69
5.3 Montaje del armario de acero tipo 2 71
5.4 Montaje del armario de acero tipo 3 73
6 Montaje de la unidad de control en el armario eXterior.........ccccccceeieieieeeeeeee e ee e 74
6.1 Eleccion de la ubicacion 74
6.2 Conexion eléctrica 74
6.3 Montaje de armario exterior para armario de PP 74
6.4 Montaje del armario exterior L, plastico 75
6.5 Montaje del armario exterior L y XL 75
7 Colocacion de las Mangueras de @ire........ccccccueeerriiiicicssmererrsssssssssseressssssssssssssssssssssssssnssnsessssssssnes 78
7.1 Montaje del tapdn sellador de espuma de PE para tubo de mangueras de GRAF 78
7.2 Tapoén sellador para tubo vacio con espuma de PU 79
L oW 1= o T o oo Vo o PSR 79
L T o T - 2SO 80
9.1 Plano de cimentacion armario A L 80
9.2 Plano de cimentacion armario A XL 81

63/124



mail@graf.info
www.graf.info

1 Volumen de suministro

1 Volumen de suministro

El volumen de suministro contiene:

o Deposito con tecnologia de depuracion premontada que consta de bombas airlift para la aireacion
y la extraccién de agua depurada, asi como de un tubo de eliminacién de lodos y una pared de-
flectora.

e Arquetas de cupula telescopicas, transitables para peatones y opcionalmente transitables en co-
che o camién (con cargo adicional).

e Armario de control con sistema de control, valvulas y compresor de membrana, compresor rotativo
de paletas o]
compresor de canal lateral.

El armario de control esta disponible opcionalmente como armario de control externo.

No incluido en el volumen de suministro:

e Tubos de desagle para las conexiones de los dep6sitos y los tubos vacios. Los diametros de tubo
necesarios figuran en los planos técnicos.

e Mangueras para la alimentacion con aire desde el armario de control hasta los depdsitos depura-
dores. Las mangueras de aire necesarias pueden consultarse en la Tabla 1.

Para instalaciones XL, los paquetes de mangueras contienen 1 manguera de 13 mm y 1 man-

guera de 19 mm. respectivamente. Como alternativa y para instalaciones de mayor tamafo se
pueden solicitar las mangueras en rollo:

Paquetes de mangueras para instalaciones XL:

Paquete de mangueras de 10 metros 107686

Paquete de mangueras de 20 metros 107688

Material en rollo

Manguera de PVC de 20 metros, negra 13 mm 934017
Manguera de PVC de 20 metros, negra 19 mm 934694
Manguera de PVC de 20 metros, azul 19 mm 934020

Manguera de PVC de 20 metros, transparente 25

934002
mm

64 /124



mail@graf.info
www.graf.info

1 Volumen de suministro

Tabla 1: Programa de tipos con datos técnicos

Tamaio de . . Tipo de armario Tipo de armario de Tipo Mangt{eras de
. ., Depdsito . . . Compre- aire
instalacion de control interior control exterior .
sor necesarias
. . . 1x 13 mm
12 habitantes | 1x 8500 L Armario de PP Armario A para PP HP 150
1X 19 mm
15 habitantes | 1x 10000L | Armariode PP | Armario AparaPP | HP 200 Tx 13 mm
1x 19 mm
. . . 1x 13 mm
19 habitantes | 1x 13 000 L Armario de PP Armario A para PP HP 200
1x 19 mm
24 habitantes | 1x 16 000 L Armario de PP Armario A para PP HP 200 2x 19 mm
32 habitantes | 1x 22 000 L Tipo 2 Armario A L plastico DT 4.16 2x 19 mm
45 habitantes | 1x 32 000 L Tipo 3 Armario A L acero 2x HP 200 2x 19 mm
50 habitantes | 1x 38 000 L Tipo 3 Armario A L acero 2x HP 200 2x 19 mm
60 habitantes | 1x 44 000 L Tipo 3 Armario A XL acero R30-MD 5x 19 mm
70 habitantes | 1x 48 000 L Tipo 3 Armario A XL acero R30-MD 5x 25 mm

65/124




mail@graf.info
www.graf.info

2 Indicaciones

2 Indicaciones

21 Seguridad

Para todos los trabajos se deben observar las normativas nacionales sobre prevencién de accidentes.
Especialmente cuando se anda por encima de los depdsitos es necesario contar con la ayuda de una
segunda persona como medida de seguridad.

Ademas, se deben seguir las prescripciones y normas nacionales vigentes para la ejecucion de los trabajos
de instalacion, montaje, mantenimiento, reparacion, etc.

Antes de realizar cualquier trabajo en el equipo o en piezas individuales del mismo debe ponerse todo el
equipo fuera de servicio, protegiéndolo al mismo tiempo contra una puesta en marcha no autorizada.

Excepto durante la realizacién de los trabajos necesarios en el depdsito, se debera mantener siempre
cerrada la tapa. En caso contrario existe un alto riesgo de accidente. Utilizar exclusivamente tapas origi-
nales de GRAF o tapas aprobadas por escrito por GRAF.

GRAF ofrece un amplio surtido de accesorios que han sido adaptados entre si y que son ampliables para
formar sistemas completos. La utilizacién de otros accesorios puede provocar la pérdida de funcionalidad
de la instalacion y anular asi la responsabilidad del fabricante en lo referente a los dafios generados en
estos casos.

2.2 Herramientas de montaje

La herramienta utilizada para el montaje de las abrazaderas de manguera de acero inoxidable debera estar
hecha igualmente de acero inoxidable. En caso contrario las piezas de acero inoxidable que hayan entrado
en contacto con una herramienta que no esté hecha de acero inoxidable se pueden oxidar.

2.3 Aireacion y ventilacion

Todos los depésitos se deben airear y ventilar. En caso necesario debera disponerse de conductos o aber-
turas de ventilacion adicionales. Las tuberias de ventilacién deben estar dispuestas de tal forma que se
permita una ventilacién natural (efecto chimenea).

2.4 Instalacion de los depositos

Para instalar los depositos Carat XL y Carat XXL, siga las instrucciones de instala-
cion de los mismos. Preste especial atencion a las condiciones de instalacion.

66 /124



mail@graf.info
www.graf.info

3 Estructura y principio de funcionamiento

3 Estructuray principio de funcionamiento

El one2cleanXtra es un sistema de oxidacioén total en una sola camara.

Entrada D)
—\J |/ @ mL N /~—_ | Salida

Arqueta de toma
de muestras

Pared deflectora——

Bomba airlift de agua
depurada

Sistema de aireacion
(difusor de disco)

=

=

S Ty

La depuradora compacta es una depuradora completamente biolégica que opera segun el principio SBR
(reactor discontinuo secuencial) con aireacién permanente. La depuradora consta de un tratamiento aeré-
bico. Este depdsito esta dividido por una pared deflectora creando una camara de decantacion de lodos y
una camara para el reactor biolégico. Dichas camara estan conectadas entre si por la zona inferior. De
esta manera, se permite que toda el agua residual doméstica tenga un tratamiento aerébico para depurar
las aguas residuales. Gracias a esta configuracion y a la inyeccion de aire a través del compresor se airea
toda el agua residual formando el lodo activado. Las bacterias presentes en el lodo activado son las encar-
gadas de depurar el agua residual biolégicamente,

Vea una descripcion exacta del proceso en el manual de instrucciones.

67 /124



mail@graf.info
www.graf.info

4 Montaje final de la cupula del depésito

Nivel de agua

maximo
El proceso de extraccion del agua depurada se realiza me- —
diante un sistema airlift. Debido al disefio especial del sifon,
el nivel minimo del agua queda exactamente definido (véase
la figura contigua). Cuando el nivel del agua desciende por
debajo de la pieza en T, se deja de bombear agua.

Sistema de bombeo

Otto Graf GmbH dispone de planos Entrada

técnicos detallados de las depurado-
ras, que se utilizaran como referencia
para el montaje y la instalacion.
Estos planos también contienen de-
talles sobre los tubos de conduccién
de agua y las mangueras de aire.

e

i
r

Piezaen T

Nivel de agua
minimo

Aire comprimido

“—

Principio de funcionamiento de la bomba para agua
depurada

4 Montaje final de la cupula del depésito

Por razones logisticas, la depuradora se envia sin
cupula premontada y

sin cubiertas telescopicas. Para el montaje deben
seguirse las instrucciones de montaje del depésito.

4.1 Conexion de los tubos de entrada y de salida

El tubo de entrada se introduce desde el exterior en

la junta labial premontada. El extremo del tubo debe \
adentrarse al menos 10 cm en el depésito.

El lado de la salida se conecta mediante un tubo con
valona.

68/ 124



mail@graf.info
www.graf.info

5 Montaje de la unidad de control interior

5 Montaje de la unidad de control interior

5.1 Eleccion de la ubicacion

A la hora de elegir la ubicacién de la unidad de control debe tener en cuenta lo siguiente:

e Se debe instalar en una cota superior al maximo nivel de agua que puede darse en el depdsito,
para evitar inundaciones y entradas de agua en el colector de gravedad en caso de averia.

e Se generan ruidos de funcionamiento! Durante el funcionamiento del compresor de aire se
genera un ruido permanente.

e Launidad de control precisa una linea eléctrica con fusible propio (16 A, temporizado). La linea
eléctrica actua como dispositivo de seccionamiento de la red y ha de ser, en todo momento,
facilmente accesible. Los puntos de consumo eléctrico adicionales conectados al mismo fusi-
ble pueden interferir en el funcionamiento de la instalacion.

e Montar la unidad de control en un recinto, seco, fresco y bien ventilado. No debera cubrirse el
armario, y en particular tampoco las aberturas de ventilacion y el interruptor principal, que de-
beran ser faciimente accesibles para realizar trabajos de mantenimiento.

e Las mangueras de aire entre la depuradora y la unidad de control no deben tener mas de
20 metros de longitud.

5.2 Montaje del armario de PP

Datos técnicos =280
Grado de proteccion:  1P20 é

Material: PP N

Color: negro

Dimensiones anchura x altura x profundidad [mm]:

420 x 625 x 275

Cierre:

Cierre mediante tornillo centrado en la cara frontal >
Conexion eléctrica: - u N
Fusible de reserva necesario a cargo del cliente

1~230V, 50 Hz &

Conexiones en la unidad de control: —
Boquillas de aire comprimido: —~—420—~

3x13mm, 1x 19 mm Dimensiones del armario de PP

Cable de conexion con clavija Schuko

69/ 124



mail@graf.info
www.graf.info

5 Montaje de la unidad de control interior

o

Contenido de la bolsa con material de mon- Herramientas necesarias
taje 1 sy Taladro M10

> Aacoz Ieg)as Ic0 Llave hexagonal n.°13

rande’a de goma Broca TX25 para perno de sustentacion
3 Arandela de acero .
- Broca H2 para tapa de armario

4 Perno de suspension M8x10

5 Arandela de acero

6 Disco dentado

7 Tuerca M8

8 Tornillo M4x20 como

seguro infantil para la tapa

El armario de PP se sujeta con 4 pernos de sustentacién (4), que se fijan a la pared con tacos (1). Las
arandelas, las arandelas dentadas y las tuercas deben montarse como se muestra en la ilustracion anterior.
Tras la instalacion, fije la tapa con el tornillo M4x20. Se suministra un segundo tornillo como recambio.

Conexion eléctrica

La toma de corriente a la que se conecta la unidad de control debe estar conec-
tada a tierra y protegida por un fusible de 16 A a través de la instalacion

doméstica y debe poder desconectarse de la red eléctrica.
jProteger la

acometida!

70/ 124



mail@graf.info
www.graf.info

5 Montaje de la unidad de control interior

5.3 Montaje del armario de acero tipo 2

Datos técnicos N
d®
Grado de proteccion:  1P44
Material: Chapa de acero 1,5 mm, ®
recubrimiento electrosta-
tico
Color: RAL 7032 ) GEDP
Dimensiones anchura x altura x
profundidad [mm]: 600 x 600 x 330
B T
Vista general de las piezas
‘ I
& s AR, ’. N.° Pieza Cantidad
1 | 1 Armario metalico 1
| 2 Llave de armario 1
\ 3 Tacos M10 4
: 4 Soporte mural 4
5 Tornillo M8 rosca fina 4
6 Arandela 4
7 Tuerca M8 4
8 Tornillo M8 4

ol 60 oo o.

La llave negra de plastico para abrir el armario esta
fijada en un lateral junto al interruptor principal. En el
interior del armario se encuentran todas las piezas de
montaje.

Para colgar el armario hay que realizar cuatro taladros
M10 en la pared. Ver las distancias en la tabla.

711124



mail@graf.info
www.graf.info

5 Montaje de la unidad de control interior

Tipo de armario Anchura Altura
[mm] [mm]
Armario interior tipo 2 630 545

Insertar a continuacioén los cuatro tacos M10 en los ta-
ladros.

Enganchar los sopor-
tes murales en los ta-
ladros del armario de
la forma mostrada en
la figura. Los sopor-
tes se fijan con los
cuatro tornillos M8
(paso fino) y las co-
rrespondientes aran-
delas y tuercas.

Aviso

Los armarios con
compresores Becker
ya vienen con los
soportes
premontados.

Finalmente se monta el armario en los taladros
previamente realizados con ayuda de los tornillos M8
(paso grueso).

Alternativa:

Enroscar primero los tornillos M8 en la pared hasta
que sobresalgan 15 mm y colgar el armario con ayuda
de las ranuras de los soportes murales.

721124



mail@graf.info
www.graf.info

5 Montaje de la unidad de control interior

5.4 Montaje del armario de acero tipo 3

Datos técnicos

Grado de
proteccion: P44 ®
Material: Chapa de acero 1,5

mm, recubrimiento elec-

trostatico H bheP
Color: RAL 7032

Dimensiones anchura x altura x profund
dad [mm]: 800 x 675 x 500 S(E)

w

Este armario eléctrico se entrega con los
amortiguadores de goma-metal ya premontados. Al
colocarlo hay que procurar que la ubicacion de
montaje sea estable (p. ej. mesa), esté nivelada y
sea plana. No es necesaria una fijacion adicional.

731124



mail@graf.info
www.graf.info

6 Montaje de la unidad de control en el armario exterior

6 Montaje de la unidad de control en el armario exterior

6.1 Eleccion de la ubicacion

La ubicacion de montaje debe ser ventilada y estar protegida contra la radiacién solar directa durante los
meses estivales. Los laterales del armario deben colocarse de forma que quede un hueco libre de min. 10
cm con respecto a la pared mas proxima. Si se prevé un sistema de sombreado, éste debera estar abierto
por los lados, para ventilar suficientemente el armario y evitar las acumulaciones de calor.

e Sedebe instalar en una cota superior al maximo nivel de agua que puede darse en el depdsito,
para evitar inundaciones y entradas de agua en el colector de gravedad en caso de averia.

e El armario precisa una acometida con fusible propio (16 A, temporizado). Los puntos de con-
sumo eléctrico adicionales conectados al mismo fusible pueden interferir en el funcionamiento
de la instalacion.

e Se generan ruidos de funcionamiento! Durante el funcionamiento del compresor de aire se
genera un ruido permanente.

e Las mangueras de aire, entre la depuradora y la unidad de control, no deben tener un largo
superior a 20 metros.

6.2 Conexion eléctrica

ijLa realizacién de la conexion eléctrica del armario de distribucién se debe
encargar siempre a un electricista!

Tender un cable subterraneo hasta el armario para la alimentacién eléctrica. Este
cable debe estar protegido a través de la instalacion doméstica con un fusi-

Proteger la ble de 16 amperios y debe poder seccionarse de la red.

conexioén con fu-
sible

6.3 Montaje de armario exterior para armario de PP

Las instrucciones especificas de instalacion y montaje del arma-
rio de control exterior para armarios interiores de PP se adjuntan
al armario de control exterior y deben respetarse durante la ins-
talacion.

" i‘;
@ oL

Armario de control de PP, incluido  Armario de control exterior de plastico
en el volumen de suministro para armario de control de PP (opcional)

\

s

741124



mail@graf.info
www.graf.info

6 Montaje de la unidad de control en el armario exterior

6.4 Montaje del armario exterior L, plastico

Datos técnicos 585

Grado de proteccion:  IP44 i
Material: GFK PE
Color: RAL 7035

845

Dimensiones (anchura x altura x profundidad [mm]) : I
585 x 1745 x 315 g | HHFHH""
|

g 9| &
S
@

11

Soterrar la columna de plastico prevista para la colocacion en exteriores en el
suelo hasta la marca visible en la cara delantera del armario. Para ello, debe pre-
verse una excavacion suficientemente profunda de unos 600 a 640 mm en el lugar
previsto.

Introducir el tubo para las mangueras de aire en la zanja realizada.

La base de cimentacion debe montarse de acuerdo con las instrucciones de mon-
taje adjuntas.

Colocar a continuacion el armario verticalmente en la zanja hasta una profundidad
de aprox. 60-64 cm (ver también la marca naranja en la columna). Es importante
que el armario quede colocado de forma segura, firme y nivelado verticalmente
dentro de la zanja.

Para limitar la humedad procedente del terreno, rellenar con el granulado para el rellenado de zécalos (n.°
art. 107607) el hueco que queda en la base del armario. El material de relleno puede permanecer perma-
nentemente en el fondo del armario, no es necesario sustituirlo.

jCon terrenos muy himedos, un armario abierto hacia el terreno puede su-
frir dafos por corrosion en los componentes eléctricos incorporados!

6.5 Montaje del armario exterior L y XL

Datos técnicos

Grado de - 8 o
proteccion: P44 I ] r—’(‘]
Material: Chapa de acero 1,5 ; LI — -

mm, recubrimiento elec-

trostatico
Color: RAL 7032
i i ]
Dimensiones (anchura x altura x profund
dad [mm])

L: 765 x880 x 660
XL: 1140 x 1080 x 720
Cimentacion: losa de cimentacion a S = =
prever por parte del
cliente

751124



mail@graf.info
www.graf.info

6 Montaje de la unidad de control en el armario exterior

Cimentacion y traslado

N.° | Pieza

Cantidad

Armario metalico L o XL

Tornillo M8

Taco M10

Arandela

A WIN|—=

Tornillo con cancamo M16

R R

Q

250 mm

76/ 124

250 mm

Para desplazar el armario se incluyen 4
tornillos de cdncamo M16. Antes de en-
roscar los tornillos con cdncamo en el ar-
mario hay que retirar el tejadillo montado
y los tapones de plastico de los aloja-
mientos para dichos tornillos. Después
del traslado hay que volver a colocar los
tapones de plastico y atornillar el tejadi-
llo. Fijar el armario eléctrico con 4 torni-
llos M8 (incluidos en el volumen de su-
ministro) a la cimentacion.

Antes de colocar el armario hay que pre-
parar una cimentacion continua o una ci-
mentacion completa.

Planos de cimentacion, véase la pagina
80.



75

390

255

1229

mail@graf.info
www.graf.info

6 Montaje de la unidad de control en el armario exterior

1400

1000

Armario A L

Armario A XL

27

Taladros M10

@

e
[
°
R

771124

Al verter en obra el hormigén del ci-
miento, deben respetarse las medidas
del plano, en particular la posicion del
orificio u orificios por los que se pasaran
posteriormente las mangueras.

En el fondo del armario hay cuatro tala-
dros M10. Prolongar estos taladros
hasta el cimiento de hormigén situado
debajo.

Inserciéon de los tacos M10 en los tala-
dros. Fijacion del armario de control con
ayuda de los cuatro tornillos M8 (junto
con sus arandelas).



mail@graf.info
www.graf.info

7 Colocacion de las mangueras de aire

7 Colocacién de las mangueras de aire

Conectar los dispositivos de aireacion y el sifon airlift a los conectores de las valvulas en la unidad de
control. Hay que pasar las dos mangueras de aire a través del tubo para las mangueras que va soterrado
hasta la ubicacion prevista de la unidad de control. Se deben acortar las mangueras para que no estén
tensadas y no puedan doblarse.

Al realizar la conexion es importante conectar las mangueras en las boquillas correctas. Para evitar con-
fusiones, el sifén airlift y los difusores en el depdsito, asi como las dos boquillas, estan identificados con
un codigo de colores en la unidad de control.

Ventilacion > azul

Sifén airlift de agua depurada > negro

Se debe tener en cuenta de conectar las mangueras y los conectores del mismo color, asegurando cada
unioén con abrazaderas sin fin. Disponemos de mangueras en los colores correspondientes hasta un dia-
metro de manguera de 19 mm. Las mangueras con un diametro de 25 mm estan disponibles de color
transparente.

Recomendamos calentar los extremos de las mangueras para facilitar la conexion. Para una medicion
fiable del nivel, recomendamos envolver adicionalmente la boquilla azul de la manguera de aireacién con
cinta de teflon.

Una vez instaladas y conectadas las mangueras se debe sellar el tubo
para las mangueras como minimo en el extremo de la unidad de control,
para impedir el retorno de gases desde la depuradora y hasta el entorno
de la unidad de control (humedad, olores).

7.1 Montaje del tapon sellador de espuma de PE para tubo de mangueras de GRAF

Para los sistemas XL 12 HE, 15 HE y 19 HE, GRAF ofrece un tapén de espuma de PE para sellar el tubo
para mangueras.

Pasar las mangueras que recorren el tubo por los Atravesar la fina capa superior con la manguera. El
orificios correspondientes del tapon sellador. resto de capa arrancado queda adherido a los ex-
tremos de la manguera.

781124



mail@graf.info
www.graf.info

8 Puesta en servicio

Recortar el extremo de la manguera para eliminar Encajar el tapén sellador en el tubo, de forma que
este resto. éste quede bien sellado.

7.2 Tapon sellador para tubo vacio con espuma de PU

Puesto que al rellenar el interior del tubo de mangueras con espuma de PU puede
suceder facilmente que queden puntos no estancos, recomendamos utilizar el ta-
pon sellador de espuma de PU para tubo de GRAF.

Limpiar por encima la superficie de la manguera y las
paredes del tubo con agua y dejarlas ligeramente hu-
mectadas.

Al inyectar la espuma es importante que cada una de
las mangueras quede bien cubierta por todos lados
con espuma de PU. Para facilitar la inyeccién de la
espuma y el correcto recubrimiento de las mangue-
ras, mover éstas ligeramente en sentido longitudinal
a medida que se vaya inyectando la espuma de PU.

8 Puesta en servicio

Consulte el manual de instrucciones para la puesta en marcha de la depuradora.

791124



mail@graf.info
www.graf.info

9 Anexo

9.1 Plano de cimentacion armario A L

T g
165 ".ija e 'r‘j'ﬁ":g:l,

™ =,

98]

250 (.67

200 79—

205 (1187
135 [5.77) |

255 [107)
I—l—-—
275 [10.87]

_ ;
e : ' |
o — @10 YA 1
i | /T | B
E §§ 10—, . 8

i L5

160 [8.37) | £80 [F-2.57) | 1860 [6.37
+ 1000 [F-3 4 ——|

Schrankfront

Front of the cabinat

avani de ['armaolre

o -
GRAF A-Schrank Metall L + Fundamentplan -
ariceko o,
oa - ES m TawTeOn
GRAF Extarnal sieal cabtinet L GRAF Caja extema L GRAF Armoire extenms L
4 concrate base plate + Haca 08 Dase # plaque de fondation
e Garmicht
sty 150G ght Otlo Gral GmibH
p— — Carlfena=Sir, 28
Ol -
rorm 2021,11.29 e +=3% DE-T0331 Teningen
mailfgrat s
Malaran . Eitsiien  Fe [rh]
e M 1:20 wrilln sl m LS pall weaw gral infp

80/ 124



mail@graf.info
www.graf.info

9.2 Plano de cimentacion armario A XL
4140 -89 ; Fog,
- By
ﬁ . 2 |
g | i
|_.\_\_-'.‘\ H“"; 4
- 8.8
- — i
~
. e =]
)
2
(-
&
000 [3'=3.4"]
300 [11 B p———
k — =
s e g
8 e | |=
. ]
. o i\ i
Y 3 @200~ 17 £
&g 210 @10 -, g
8 N
E
170 |s.?-1-..__|_—1¢e¢ :3—.5!1—.1.._..41“& ™
1400 45T 1 e ]
4 schrankiront
Front of the cabinet
avani de larmoire
[5] A,
GRAF A-Schrank Metall XL + Fundamentplan et
Nl AR,
o [E] L
GRAF Extermal stesl cabined X1|  GRAF Caja sxtema XL CRAF Afmoing axterne XL [T
+ concrase base plate * placa do bass + plague de fondation
T Isc ey Oiio Graf GmbH
- Ea— Carl=Zniss=Str, 2o
e 2021,11,29 el +=3% DE-7TEI Teningen
™ — - maslxgral.inio
—_ MA20 ey 7= vww,gratind

www.graf.info

81/124




mail@graf.info
www.graf.info

Per un uso corretto e sicuro seguire le indicazioni e le note
riportate nel presente documento.

Leggere attentamente le istruzioni di installazione prima dell’installazione, del
montaggio e della messa in servizio.
Conservarle per futura consultazione.

Istruzioni per l'installazione di un
impianto di depurazione compatto
one2cleanXtra GRAF

N. EAN 4023122278962
Data di emissione 25/11/2024
Istruzioni per I'uso originali
Lingua originale: tedesco

Le istruzioni di montaggio per tutti gli accessori acquistati tramite GRAF vengono fornite separatamente nell’imballag-
gio per il trasporto.

Prima della posa nello scavo deve essere effettuata una verifica di tutti i componenti per individuare eventuali danni.
Il funzionamento e la manutenzione dell'impianto sono descritti in istruzioni separate.

Otto Graf GmbH Kunststofferzeugnisse
Carl-Zeiss-Stralle 2 — 6, 79331 Teningen
Germania

Tel. +49 7641 589-0
mail@graf.info  www.graf.info

82/124



mail@graf.info

www.graf.info

Sommario

LI © To T 1=1 d o e (=Y 1 I8 o 10T - 84
7 N VY Y o =Y o V- e 86
2.1 Sicurezza 86
2.2 Utensili per il montaggio 86
2.3 Aerazione e sfiato 86
2.4 |Installazione dei serbatoi 86
3 Struttura e principio di funZioNamMeNnto ... ———— 87
4 Montaggio finale delle torrette dei serbatoi..........cccccrrreiirireciirrr e 88
4.1 Collegamento delle tubazioni di ingresso e uscita 88
5 Montaggio dell’armadio elettrico iNterno..........ccccoi i 89
5.1 Scelta del luogo di installazione 89
5.2 Montaggio dell’armadio in PP 89
5.3 Montaggio dell’armadio in acciaio di tipo 2 91
5.4 Montaggio dell’armadio in acciaio di tipo 3 93
6 Montaggio dell’armadio elettrico eSterno..........cccccieiiiiii s ———— 94
6.1 Scelta del luogo di installazione 94
6.2 Collegamento elettrico 94
6.3 Montaggio dell’armadio esterno per armadio in PP 94
6.4 Montaggio dell’armadio esterno L di plastica 95
6.5 Montaggio dell’'armadio elettrico esterno L e XL 95
7  Posa dei tubi di @razione ... 98
7.1 Applicazione del sistema di sigillatura GRAF con schiuma polietilenica 98
7.2 Sigillatura della guaina con schiuma poliuretanica 99
T |1 (Y13 T 0 K== Y/ 4 o 2P 99
L2 T N | =Y o o o 100
9.1 Piano di fondazione armadio esterno L 100
9.2 Piano di fondazione armadio esterno XL 101

83/124



mail@graf.info
www.graf.info

1 Oggetto della fornitura

1 Oggetto della fornitura

Inclusi nella fornitura:

e Serbatoio con componente tecnologico di depurazione premontato costituito da pompe ad aria
compressa per I'aerazione e lo scarico dell’acqua chiarificata, un tubo per I'estrazione dei fanghi e
una parete sommersa.

e Coperchio telescopico pedonabile, eventualmente anche carrabile per automobili e autocarri (con
maggiorazione di prezzo).

e Armadio elettrico con centralina, valvole e compressore a membrana, compressore rotativo a pa-
lette multiple o]
compressore a canale laterale.

L’armadio elettrico & disponibile anche in versione esterna.

Non inclusi nella fornitura:

e Tubi fognari per i collegamenti al serbatoio e tubi guaina. Consultare i disegni tecnici per i diametri
dei tubi.

e Tubi flessibili per I'alimentazione dell’aria dall’armadio elettrico ai serbatoi di depurazione. | tubi di
aerazione necessari sono riportati nella Tabella 1.

Per gli impianti XL sono disponibili pacchetti di tubi flessibili contenenti un tubo da 13 mm e un

tubo da 19 mm. In alternativa, e per impianti pit grandi, i tubi necessari possono essere ordinati
in rotoli.

Pacchetti di tubi flessibili per impianti XL:

Pacchetto tubo flessibile 10 metri 107686

Pacchetto tubo flessibile 20 metri 107688

Prodotti in rotolo:

Tubo flessibile in PVC 20 metri, nero 13 mm 934017
Tubo flessibile in PVC 20 metri, nero 19 mm 934694
Tubo flessibile in PVC 20 metri, blu 19 mm 934020

Tubo flessibile in PVC 20 metri, trasparente

25 mm 934002

84 /124



mail@graf.info
www.graf.info

1 Oggetto della fornitura

Tabella 1: Programma tipo con dati tecnici

Dimensioni . Tipo di armadio Tipo di armadio elet- Tipo TUbI.dI aera-
o Serbatoio s . Compres- zione
dell’impianto elettrico interno trico esterno .
sore necessari
12 AE 1x8500L | Armadioinpp | Armadioesternoper | 545, Tx 13 mm
PP 1x 19 mm
. Armadio esterno per 1x 13 mm
15 AE 1x 10.000 L Armadio in PP HP 200
PP 1x 19 mm
19 AE 1x13.000L | Armadioinpp | Armadioesternoper | 554, 1x 13 mm
PP 1x 19 mm
24 AE 1x16.000L | Armadioinpp | Amadio SSIemoPer | Hp 200 2x 19 mm
32 AE 1x 22.000 L Tipo 2 Armadio esterno L di | 14 4 2x 19 mm
plastica
45 AE 1x 32.000 L Tipo 3 Armadio esterno Lin | 5. 115500 | 2x 19 mm
acclalo
50 AE 1x 38.000 L Tipo 3 Armadio esterno Lin | 5. 115500 | 2x 19 mm
accilalo
60 AE 1x 44.000 L Tipo 3 Armadio esterno XLin | pag \yp | 5x 19 mm
accilaio
70 AE 1x 48.000 L Tipo 3 Armad";gcsi;eigno XLin | paoMD | 5x 25 mm

85/124




mail@graf.info
www.graf.info

2 Avvertenze

2.1 Sicurezza

Per tutti i lavori rispettare le disposizioni nazionali in materia di prevenzione degli incidenti sul lavoro. In
particolare, per il sollevamento dei serbatoi & necessario I'aiuto di una seconda persona per precauzione.

Inoltre, durante i lavori di installazione, montaggio, manutenzione, riparazione, ecc. € necessario rispettare
le leggi € norme nazionali vigenti.

Per qualsiasi intervento sull'impianto o componenti dello stesso arrestare I'intero impianto e proteggerlo
contro riaccensioni non autorizzate.

Salvo che per interventi all'interno del serbatoio, il coperchio del serbatoio deve essere tenuto sempre
chiuso; diversamente sussiste un altissimo rischio di incidenti. Utilizzare esclusivamente coperture originali
GRAF o coperture approvate per iscritto da GRAF.

GRAF offre un’ampia gamma di accessori tra loro perfettamente compatibili che possono essere utilizzati
per realizzare impianti completi. L'impiego di accessori diversi potrebbe compromettere il funzionamento
dell'impianto con decadenza della copertura in garanzia dei danni che ne derivano.

2.2 Utensili per il montaggio

Gli utensili per il montaggio delle fascette stringitubo in acciaio inossidabile devono essere in acciaio inos-
sidabile. In caso contrario, le parti in acciaio inossidabile entrate in contatto con lo strumento non in acciaio
inossidabile potrebbero corrodersi.

2.3 Aerazione e sfiato

Tutti i serbatoi devono essere aerati e sfiatati. Se necessario, predisporre condutture e aperture di aera-
zione aggiuntive, disponendo le condutture di aerazione in modo di avere un’aerazione naturale (effetto
camino).

2.4 Installazione dei serbatoi

Per l'installazione dei serbatoi Carat XL e Carat XXL seguire le istruzioni di installa-
zione dei serbatoi. Prestare particolare attenzione alle condizioni di installazione.

86/124



mail@graf.info
www.graf.info

3 Struttura e principio di funzionamento

3 Struttura e principio di funzionamento

one2cleanXtra &€ un impianto ad aerazione completa composto da un serbatoio.

In- )
w TR \ / ~ Scarico

Unita di
] campionamento

Parete som- Sifone dell’acqua
mersa chiarificata
Dispositivo di aerazione
(disco di aerazione)

L’'impianto di depurazione compatto € un depuratore di dimensioni ridotte, totalmente biologico che opera
in virtu del processo SBR con aerazione prolungata. L’'impianto consiste di uno stadio aerobico suddiviso,
attraverso un setto interno, in una camera di decantazione dei solidi e una di aerazione che nel settore
inferiore sono collegate tra loro. In questo processo, tutta 'acqua reflua domestica viene sottoposta imme-
diatamente a un trattamento aerobico. Tramite il soffiaggio di aria compressa l'intero impianto viene aerato,
e i fanghi attivi cosi formati depurano le acque reflue tramite processi biologici.

Per una descrizione piu precisa della procedura si rimanda al libretto di esercizio.

871124



mail@graf.info
www.graf.info

4 Montaggio finale delle torrette dei serbatoi

Sistema di alimentazione leellgcrgjassmo %qﬁ\
Lo scarico dell’acqua chiarificata ha luogo tramite pompa ad —
aria compressa (principio della pompa mammut). La spe- Raccordoa T
ciale configurazione dei sifoni definisce precisamente il li- - il
vello minimo di acqua (vedere figura a lato). Se il livello di = N Livello minimo acqua
acqua scende al di sotto del raccordo a T, si interrompe I'ali-
mentazione di acqua.
Ingresso T Aria compressa
| disegni tecnici dettagliati degli im- A/
pianti sono disponibili presso Otto
Graf GmbH e sono fondamentali per
il montaggio e l'installazione.
Questi disegni contengono anche i

dettagli per la posa dei tubi guaina e
di aerazione.

Principio di funzionamento del sifone per acqua
chiarificata

4 Montaggio finale delle torrette dei serbatoi

Per motivi logistici, 'impianto di depurazione viene
spedito senza torrette e coperchi telescopici
premontati. Per il montaggio seguire le istruzioni del
serbatoio.

41 Collegamento delle tubazioni di ingresso e uscita

Il tubo di ingresso viene introdotto dall’esterno nella mvﬁﬂmj
guarnizione a labbro preassemblata. L’estremita del '/ m]

tubo deve sporgere di almeno 10 cm nel serbatoio.
Il lato di scarico viene collegato tramite un tubo con
manicotto.

88/ 124



mail@graf.info
www.graf.info

5 Montaggio dell’armadio elettrico interno

5 Montaggio dell’armadio elettrico interno

5.1 Scelta del luogo di installazione
Per la scelta del luogo di installazione dell’armadio elettrico seguire le seguenti istruzioni:

e |Installare a un’altezza superiore al livello di acqua massimo nel serbatoio, per evitare allaga-
menti e afflussi di acqua a pelo libero in caso di avaria.

e |l funzionamento produce rumore. Il compressore d’aria in funzione produce un rumore conti-
nuo.

e L’armadio richiede una presa di corrente sicura e separata (16 Ampere, ritardata). La presa di
corrente funge da interruttore di rete e deve essere sempre facilmente accessibile. La presenza
di piu utenze elettriche in corrispondenza dello stesso dispositivo di sicurezza pud ostacolare
il funzionamento.

¢ Il luogo di installazione dell’armadio deve essere un vano asciutto, fresco e ben ventilato. L'ar-
madio e in particolare le fessure di aerazione e l'interruttore generale non devono essere co-
perti e devono essere liberamente accessibili per gli interventi di manutenzione.

e | tubi di aerazione devono avere una lunghezza massima di 20 metri.

5.2 Montaggio dell’armadio in PP

Dati tecnici =280~
Classe di é

protezione: P20 N

Materiale: PP

Colore: Nero

Dimensioni L x H x P [mm]:
420 x 625 x 275

Chiusura:
Fissaggio a vite sul lato anteriore, centrale n u
Collegamento elettrico:

625

Necessario fusibile predisposto in opera @ Q
1~230V, 50 Hz

Collegamenti all’armadio: -~ 420—=
Raccordi aria compressa:

3x 13 mm, 1x 19 mm , Dimensioni dell’armadio in PP
Condotta di collegamento con connettore tipo E+F

89/124



mail@graf.info
www.graf.info

5 Montaggio dell’armadio elettrico interno

() ° ()
Contenuto del sacchetto con il materiale di Attrezzatura necessaria
montaggio - - Trapano M10
1 Tassello di plastica Chiave fissa SW13
§ ionje::a !n gomma Bit TX25 per vite prigioniera
_On e. a. |n.aCC|a|o Bit H2 per coperchio armadio
4 Vite prigioniera M8x10
5 Rondella in acciaio
6 Disco dentato
7 Dado M8
Vite M4x20 come
8 blocco di sicurezza per bambini
per il coperchio

Il fissaggio dell’armadio in PP viene effettuato con 4 viti prigioniere (4), che sono fissate alla parete con
tasselli (1). Le rondelle, i dischi dentati e i dadi devono essere montati come da figura sopra riportata.
Dopo il montaggio, il coperchio deve essere fissato con la vite M4x20. Come ricambio viene fornita una
seconda vite.

Collegamento elettrico

La presa di corrente a cui & collegato 'armadio deve essere messa a terra e
protetta tramite I'impianto domestico con un fusibile da 16 A ed essere se-
Mettere in sicu-  Parabile dalla rete.

rezza
i collegamenti.

90/ 124



mail@graf.info
www.graf.info

5 Montaggio dell’armadio elettrico interno

5.3 Montaggio dell’armadio in acciaio di tipo 2

Dati tecnici N
SiE)
Classe di
protezione: P44 @
Materiale: Lamiera di acciaio di
1,5 mm,
verniciata a polvere ) GEDP
Colore: RAL 7032
Dimensioni L x H x P [mm]: .
600 x 600 x 330
B T
Riepilogo pezzi
- r
L e ‘. N. Pezzo Quantita
' @' ; 1 Armadio metallico 1
| e 2 Chiavi per armadio 1
ﬂ 3 Tassello a muro M10 4
‘ 4 Supporto a parete 4
5 Vite M8 fine 4
6 Rondella 4
7 Dado M8 4
8 Vite M8 4

ol 60 oo o.

La chiave di plastica nera per aprire 'armadio ¢ fissata
lateralmente all'interruttore  generale. All'interno
dell’armadio si trovano tutti i pezzi di montaggio.

Per fissare I'armadio & necessario realizzare nella
parete quattro fori M10. Le distanze sono riportate
nella tabella.

91/124



mail@graf.info
www.graf.info

5 Montaggio dell’armadio elettrico interno

Tipo di armadio L [mm] H [mm]
Armadio interno di 630 545
tipo 2

Successivamente inserire nei fori i quattro tasselli a
muro M10.

Inserire i supporti a
parete nei fori dell’ar-
madio come indicato
nella figura. Fissare i
supporti con le quat-
tro viti M8 (fini) e le
rondelle e i dadi corri-
spondenti.

Nota

Negli armadi con
compressori vasca i
supporti  sono gia
premontati

Infine, 'armadio deve essere montato nei fori realizzati
precedentemente con l'ausilio delle viti M8 (grosse).

Alternativa:

Avvitare dapprima le viti M8 fino a 15 mm nella parete
e fissare successivamente I'armadio tramite le fessure
presenti nei supporti a parete.

92 /124



mail@graf.info
www.graf.info

5 Montaggio dell’armadio elettrico interno

5.4 Montaggio dell’armadio in acciaio di tipo 3

Dati tecnici
Classe di

protezione:
Materiale:

Colore:

IP44

Lamiera di acciaio di
1,5 mm,

verniciata a polvere
RAL 7032

Dimensioni L x H x P [mm]:
800 x 675 x 500

@
H SEASERSEAS
B N T

L’'armadio elettrico viene consegnato con i
paracolpi in gomma-metallo premontati. Prima
dell'installazione accertarsi che la postazione sia
stabile, orizzontale e piana (per esempio un tavolo).
Non & necessario un ulteriore fissaggio.

93/124



mail@graf.info
www.graf.info

6 Montaggio dell’armadio elettrico esterno

6 Montaggio dell’armadio elettrico esterno

6.1  Scelta del luogo di installazione

Il luogo di installazione deve essere fresco e protetto dall’esposizione solare diretta nei mesi estivi. | lati
dell’armadio devono essere posizionati a una distanza di almeno 10 cm dalla parete piu vicina. Se & prevista
una schermatura in opera, deve essere aperta sui lati in modo da consentire un’aerazione sufficiente dell’ar-
madio onde evitare accumuli di calore.

e |Installare a un’altezza superiore al livello di acqua massimo nel serbatoio, per evitare allaga-
menti e afflussi di acqua a pelo libero in caso di avaria.

e |’armadio macchina richiede una presa di corrente sicura e separata (16 Ampere, ritardata).
La presenza di piu utenze elettriche in corrispondenza dello stesso dispositivo di sicurezza pud
ostacolare il funzionamento.

e |l funzionamento produce rumore. Il compressore d’aria in funzione produce un rumore conti-
nuo.

e | tubi di aerazione devono avere una lunghezza massima di 20 metri.

6.2 Collegamento elettrico

Il collegamento elettrico dell’armadio deve essere eseguito solo da un elettri-
cista qualificato!

Per I'alimentazione elettrica & necessario collegare un cavo di massa all’armadio. Il
cavo deve essere protetto tramite I'impianto domestico con un fusibile da

Mettere in sicu- 16 Ampere ed essere separabile dalla rete.

rezza
i collegamenti.

6.3 Montaggio dell’armadio esterno per armadio in PP

Istruzioni separate per l'installazione e il montaggio dell’armadio
elettrico esterno per armadio interno in PP sono allegate all’'ar-
madio elettrico esterno e devono essere rispettate durante I'in-

stallazione.
7 :
:,il. Le
“gg—" \/J

Armadio elettrico in Armadio elettrico esterno di plastica
PP, incluso nella for-  per armadio elettrico in PP (opzionale)
nitura

94 /124



mail@graf.info
www.graf.info

6 Montaggio dell’armadio elettrico esterno

6.4 Montaggio dell’armadio esterno L di plastica

Dati tecnici

Classe di d

protezione: P44 I ¢

Materiale: VTR PE - i

Colore: RAL 7035 i
i

Dimensioni (L x H x P [mm])

585 x 1745 x 315

Lill

La colonna di plastica prevista per l'installazione all’aperto deve essere inserita
nel terreno fino alla tacca presente nella parte anteriore dell’armadio. A tal fine,
nel luogo di installazione previsto si deve realizzare uno scavo sufficientemente
profondo di circa 600-640 mm.

Inserire la guaina con i tubi di aerazione nella fossa predisposta.

Assemblare lo zoccolo di fondazione secondo le istruzioni di montaggio allegate.

Successivamente collocare I'armadio verticalmente nella fossa fino a una profon-
dita di circa 60-64 cm. Accertarsi che I'armadio sia in posizione sicura, stabile e
perpendicolare nello scavo.

Per ridurre 'umidita del terreno, riempire a regola d’arte la cavita ancora presente nel basamento dello
zoccolo con apposito granulato di riempimento (n. art. 107607). Il materiale di riempimento pud rimanere
permanentemente sul fondo dell’armadio e non deve essere sostituito.

Se ’'armadio rimane esposto al terreno naturale, i componenti elettrici pos-
sono subire danni da corrosione in caso di elevata umidita del terreno.

6.5 Montaggio dell’armadio elettrico esterno L e XL

Dati tecnici
- B - T T -

Classe di [ ] r—’—”]
protezione: P44 ; i —
Materiale: Lamiera di acciaio di

1,5 mm,

verniciata a polvere
Colore: RAL 7032 H n ]
Dimensioni (L x H x P [mm])
L: 765 x 880 x 660
XL: 1140 x 1080 x 720 !

Fondazione: Fondazione piena a = - —=
cura del committente

95/ 124



mail@graf.info
www.graf.info

6 Montaggio dell’armadio elettrico esterno

Fondazione e posa

N. | Pezzo Quantita
1 Armadio in metallo L o XL 1
2 Vite M8 4
3 Tassello M10 4
4 | Rondella 4
5 Golfaro M16 4

< Per la posa dellarmadio vengono forniti
4 golfari M16. Prima di fissare i golfari
all’armadio rimuovere la protezione anti-
pioggia e i tappi in polietilene dalle appo-
site aperture. Dopo la posa reinserire i
tappi in polietilene e riavvitare la prote-
zione antipioggia. Fissare I'armadio elet-
I trico alla fondazione con 4 viti M8 (in-
cluse nella fornitura).

g —_—
Prima dell’installazione preparare corret-
= [ tamente una fondazione piena o conti-
- nua.
Per i piani di fondazione vedere pagina
= 100.
= | v

96/ 124



mail@graf.info
www.graf.info

6 Montaggio dell’armadio elettrico esterno

75

390

255
+

54

1229

1400

295
1000

Armadio esterno L

Armadio esterno XL

=

27

N
/

Fori M10

ﬁf
T~

]

e
[
°
R

97 /124

Per la gettata della fondazione rispet-
tare le quote dei disegni, in particolare
la posizione del/i foro/i attraverso il/i
quale/i dovranno passare successiva-
mente i tubi.

Sul fondo dell’armadio ci sono quattro
fori M10. Praticare i medesimi fori anche
nella fondazione in calcestruzzo sotto-
stante.

Inserire i tasselli M10 all’interno dei fori.
Fissare I'armadio elettrico con l'ausilio
delle quattro viti M8 (insieme alle ron-
delle).



mail@graf.info
www.graf.info

7 Posa dei tubi di aerazione

7 Posa dei tubi di aerazione

Collegare i sistemi di aerazione e la pompa ad aria compressa al gruppo valvole dell’armadio elettrico. |
due tubi di aerazione vengono condotti attraverso la guaina interrata fino al luogo di installazione previsto
per 'armadio. | tubi devono essere eventualmente accorciati in modo che non siano sotto tensione € non
si pieghino.

Durante il collegamento assicurarsi che i tubi siano collegati ai raccordi corretti. Per evitare confusione, la
pompe, le colonne discendenti di aerazione del serbatoio e i due raccordi dell’armadio elettrico sono stati
codificati a colori:

Aerazione > Blu

Sifone dell’acqua chiarificata > Nero

Di norma, gli attacchi dello stesso colore devono essere collegati tra loro e fissati con fascette. Sono dispo-
nibili tubi dei colori corrispondenti fino a un diametro di 19 mm. | tubi con un diametro di 25 mm sono dispo-
nibili in versione trasparente.

Per il montaggio consigliamo di riscaldare le estremita dei tubi. Per una sicura misurazione del livello dell’ac-
qua consigliamo di avvolgere il portagomma blu per I'aerazione con nastro in teflon.

Dopo la posa e il collegamento dei tubi & necessario sigillare la guaina
almeno sul lato della centralina per evitare uno scambio di gas tra I'im-
pianto di depurazione e I'ambiente circostante all’armadio (umidita,
odori).

7.1 Applicazione del sistema di sigillatura GRAF con schiuma polietilenica

Per gli impianti XL 12 AE, 15 AE e 19 AE, GRAF offre un sistema di sigillatura in schiuma polietilenica.

Inserire i tubi flessibili dal tubo guaina negli appositi  Spingere il tubo attraverso lo strato superiore sot-
fori del dispositivo di sigillatura. tile. La parte finale della punzonatura rimane attac-
cata all’'estremita del tubo.

98 /124



mail@graf.info
www.graf.info

8 Messa in servizio

Tagliare le estremita dei tubi per rimuovere la parte  Spingere il dispositivo di sigillatura nel tubo guaina
finale della punzonatura. in modo che sia chiuso saldamente.

7.2 Sigillatura della guaina con schiuma poliuretanica

Poiché la sigillatura del tubo guaina con schiuma poliuretanica pud provocare la
formazione di punti non ermetici, si consiglia di utilizzare il sistema di sigillatura
GRAF con schiuma polietilenica.

Pulire grossolanamente le superfici e le pareti dei tubi
e inumidire leggermente con acqua.

Durante I'applicazione della schiuma poliuretanica
accertarsi di ricoprire ogni tubo su tutti i lati. Per una
migliore stesura e ottenere un buon rivestimento,
muovere leggermente i tubi in senso longitudinale.

8 Messa in servizio

Per la messa in servizio dell'impianto consultare il libretto di esercizio.

99/124



mail@graf.info
www.graf.info

9 Allegato

9 Allegato

9.1 Piano di fondazione armadio esterno L

T g
765 e 'r‘z'ffﬂ:,u

e "

98]

250 (.67

200 (79—

205 (1187
135 [5.77) |

255 [107)
I—l—-—
275 [10.87]

_ ;
L . . .
o — @10 YA 1
i | /T | B
E §§ 10—, . 8

i L5

160 [8.37) | £80 [F-2.57) | 1860 [6.37
+ 1000 [F-3 4 ——|

Schrankfront

Front of the cabinat

avani de ['armaolre

o -
GRAF A-Schrank Metall L + Fundamentplan -
ariceko o,
oa - ES m TawTeOn
GRAF Extarnal sieal cabtinet L GRAF Caja extema L GRAF Armoire extenms L
4 concrate base plate + Haca 08 Dase # plaque de fondation
e Garmicht
sty 150G ght Otlo Gral GmibH
p— — Carlfena=Sir, 28
Ol -
rorm 2021,11.29 e +=3% DE-T0331 Teningen
mailfgrat s
Malaran . Eitsiien  Fe [rh]
e M 1:20 wrilln sl m LS pall weaw gral infp

100/ 124



mail@graf.info
www.graf.info

9 Allegato

9.2 Piano di fondazione armadio esterno XL

— 1080 [F-8.57)

&

Ry

ql-—ﬂ:[?’l

s

LY.

1000 [3=3.47
300 [11 5 ————
E I =
s e 8
E | . i | o
o
. o r'. - y
Y3 @200 —" 17 £
&g 210 @10 -, g
g | V \
‘]’ & | |
8
170 |s_?-1-.._._L—1¢ec- :3—.5!1—l__|1u|a ™
T L L T—
4 Schrankiront
Front of the cabinet
avani de larmoire
[ s,
GRAF A-Schrank Metall XL + Fundamentplan et
Nl AR,
=] ES "
GRAF Extermal stesl cabined X1|  GRAF Caja sxtema XL CRAF Afmoing axterne XL [T
+ concrase base plate * placa do bass + plague de fondation
— Isc e Ot Graf GmbH
- Ea— Carl=Zniss=Str, 2
o 2021,11,29 e 4-3% DE-7E331 Teningen
aluta Cirbaten Mo sy mal@gratinio
ity M 120 " il = ,:5 el wewwgralinkc

www.graf.info

101/124
2024-11



mail@graf.info
www.graf.info

W celu zapewnienia prawidiowego i bezpiecznego
uzytkowania nalezy przestrzega¢ wskazowek i instrukcji
wymienionych w ponizszym dokumencie.

Przed instalacja, montazem i uruchomieniem nalezy uwaznie przeczytac
instrukcje montazu.
Instrukcje zachowac w celu uzycia w przysztosci.

Instrukcja montazu i instalacji
przydomowej oczyszczalni sciekow GRAF
one2cleanXtra

Nr EAN 4023122278962
Data wydania 25.11.2024
Oryginalna instrukcja obstugi
Jezyk oryginatu: niemiecki

Dla wszystkich elementéw dodatkowych zakupionych za posrednictwem firmy GRAF otrzymasz oddzielne instrukcje
montazu zatgczone do opakowania.

Przed posadowieniem w wykopie budowlanym skontrolowa¢ wszystkie elementy instalacji pod katem ewentualnych
uszkodzen.

Eksploatacja i konserwacja oczyszczalni opisana jest w osobnej instrukciji.

Otto Graf GmbH Kunststofferzeugnisse
Carl-Zeiss-Stralle 2 — 6, 79331 Teningen
Niemcy

Tel. +49 7641 589-0
mail@graf.info  www.graf.info

102 /124



mail@graf.info
www.graf.info

Spis tresci

LI 14 == o (e X3 - 1T 104
2 WSKAZOWKI ceeeeieiceciiiriiissecccsme e ee e s s s s s s s s smms e e s s s s s s e e e e e e s sa e smneee e e eesa s s anmeEeeeeesaasssnnmnneeeasssnnmnnneenesaan 106
2.1 Bezpieczenstwo 106
2.2 Narzedzia montazowe 106
2.3 Napowietrzanie i odpowietrzanie 106
2.4 Montaz zbiornika 106
3 Budowa i zasada dziatania ..........ccccciiiiiiiiii e —————— 107
4  Montaz koncowy nadbudowy zbiornika.........ccccereecerirncccerrrcre e 108
4.1 Przytgcza przewodow wiot/wylot 108
5 Montaz wewnetrznej szafy SteroWNICZej .......ccccceeeiiiiiicciiceiiii e mnn e s 109
5.1 Wybor lokalizaciji 109
5.2 Montaz szafy PP 109
5.3 Montaz szafy stalowej typu 2 111
5.4 Montaz szafy stalowej typu 3 113
6  Montaz zewnetrznej szafy StErOWNICZE].......cccvrrveieerririicirrr e e 114
6.1 Wybor lokalizacji 114
6.2 Przytgcze elektryczne 114
6.3 Montaz szafki zewnetrznej dla szafki PP 114
6.4 Montaz szafy zewnetrznej L, z tworzywa 115
6.5 Montaz szafy zewnetrznej L i XL 115
7  Ukladanie i prowadzenie wezy powietrznyCh.........cccocoiiiiiiimincirs e 118
7.1 Montaz zamkniecia rury z pianki polietylenowej firmy GRAF 118
7.2 Zamkniecie rury z pianki poliuretanowej 119
I U 4 ¥ o 1= oY RS 119
L TR - T4 3 1 | SRR 120
9.1 Projekt fundamentow Szafka A L 120
9.2 Projekt fundamentéw szafka A rozmiar XL 121

103 /124



mail@graf.info
www.graf.info

1 Zakres dostawy

1 Zakres dostawy

Zakres dostawy obejmuje:

e Zbiornik ze wstepnie zamontowang technologig do oczyszczania Sciekéw, obejmujgcg kolumne z
dyfuzorami do napowietrzania oraz pompe mamutowg do odpompowania $cieku oczyszczonego,
a takze zestaw do usuwania osadu i przegrode zanurzeniowg.

e Pokrywy teleskopowe przystosowane do ruchu pieszego, a opcjonalnie do ruchu pojazdow
osobowych i ciezarowych (za doptatg).

e Szafe sterowniczg z uktadem sterowania, zaworami i sprezarkg membranowa, sprezarkg
topatkowg lub
sprezarkg bocznokanatowa.

Opcjonalnie zamoéwi¢ mozna szafe sterowniczg w wersji przystosowanej do instalacji zewnetrzne;.

Zakres dostawy nie obejmuje:

e Rury KG do wykonywania potgczen zbiornika i rur ostonowych. Wymagane $rednice rur podano na
rysunkach technicznych.

e Wezy do podawania powietrza z szafy sterowniczej do zbiornikow oczyszczalni. Wymagane
weze - patrz Tabela 1.

Dla instalacji rozmiaru XL oferujemy pakiety zawierajgce weze w rozmiarach 1 x 13 mmi 1 x 19
mm. Alternatywnie, w przypadku wiekszych instalacji mozna zamowic rowniez weze docinane na
dtugosé.

Pakiety wezy do instalacji XL:

Pakiet wezy 10 metrow 107686

Pakiet wezy 20 metrow 107688

Weze docinane z rolki:

wagz PVC 20 metréw, czarny 13 mm 934017
waz PVC 20 metréw, czarny 19 mm 934694
wgz PVC 20 metréw, niebieski 19 mm 934020
wgz PVC 20 metréw, przezroczysty 25 mm 934002

104 /124



mail@graf.info
www.graf.info

1 Zakres dostawy

Tabela 1: Typoszereg z danymi technicznymi

. . Wymagane
Rozmiar Zbiornik Typ wewnetrfnej. Typ zewnetrz_nej .szafy TYp ' wete
szafy sterowniczej sterowniczej sprezarki R

powietrzne
12 RLM 1x 8500 L Szafa PP Szafa A dla PP HP 150 Tx 13 mm
1x 19 mm
15 RLM 1x 10 000 L Szafa PP Szafa A dia PP HP 200 Tx 13 mm
1x 19 mm
19 RLM 1x 13 000 L Szafa PP Szafa A dia PP HP 200 1x 13 mm
1x 19 mm
24 RLM 1x 16 000 L Szafa PP Szafa A dla PP HP 200 2x 19 mm
32 RLM 1x 22 000 L Typ 2 Szafa A L z tworzywa DT 4.16 2x 19 mm
45 RLM 1x 32 000 L Typ 3 Szafa A L ze stali 2x HP 200 2x 19 mm
50 RLM 1x 38 000 L Typ 3 Szafa A L ze stali 2x HP 200 2X 19 mm
60 RLM 1x 44 000 L Typ 3 Szafa A XL ze stali R30-MD 5x 19 mm
70 RLM 1x 48 000 L Typ 3 Szafa A XL ze stali R30-MD 5x 25 mm

105/124



mail@graf.info
www.graf.info

2 Wskazowki

2.1 Bezpieczenstwo

Podczas wykonywania wszystkich prac nalezy przestrzega¢ przepiséw BHP obowigzujgcych w kraju
uzytkowania. Zwtaszcza w przypadku koniecznosci wejscia do zbiornika konieczna jest druga osoba do
asekuraciji.

Ponadto, podczas instalacji, montazu, konserwacji, napraw itp. nalezy przestrzega¢ przepiséw i norm
obowigzujgcych w danym kraju.

Podczas wykonywania jakichkolwiek prac przy instalacji lub jej elementach nalezy zawsze wytaczyé¢ catg
instalacje i zabezpieczy¢ jg przed przypadkowym zatgczeniem.

Pokrywa zbiornika musi by¢ stale zamknieta, za wyjgtkiem prac wykonywanych we wnetrzu zbiornika, w
przeciwnym razie wystepuje bardzo wysokie niebezpieczenstwo wypadku. Stosowaé nalezy wytgcznie
oryginalne pokrywy produkcji GRAF lub pokrywy posiadajgce pisemne dopuszczenie firmy GRAF.

Firma GRAF oferuje szeroki asortyment odpowiednio dopasowanych do siebie akcesoriow i elementow
stanowigcych czesci sktadowe kompletnego systemu. Uzycie innych czesci wyposazenia moze
spowodowac¢ nieprawidtowe dziatanie instalacji. Ponadto producent nie ponosi zadnej odpowiedzialnosci
za wszelkie wynikajace z tego tytutu szkody.

2.2 Narzedzia montazowe

Narzedzia uzywane do montazu opasek zaciskowych ze stali nierdzewnej musza by¢ wykonane ze stali
nierdzewnej. W przeciwnym razie pojawic sie moze korozja czesci ze stali nierdzewnej, ktére miaty kontakt
z narzedziem ze stali zwyktej.

2.3 Napowietrzanie i odpowietrzanie

Wszystkie zbiorniki wymagajg napowietrzania i odpowietrzania. W razie potrzeby nalezy wykona¢
dodatkowe przewody lub otwory wentylacyjne. Przewody wentylacyjne nalezy uktada¢ w taki sposob, aby
stworzy¢ mozliwo$¢ naturalnej wentylacji (efekt ciggu kominowego).

2.4 Montaz zbiornika

Montaz zbiornikow Carat XL i Carat XXL wykonuje sie zgodnie z instrukcjami
instalacji zbiornikéw. Przestrzegac¢ nalezy w szczegdlnosci warunkéw montazu.

106 /124



mail@graf.info
www.graf.info

3 Budowa i zasada dziatania

3 Budowa i zasada dziatania

One2cleanXtra to w petni napowietrzany system sktadajacy sie z jednego zbiornika.

Dopt
=0 7 e J /7 Odptyw
\

Punkt poboru

Sg=  prébek
Przegroda — Pompa mamutowa
Zanurzeniow Scieku oczyszczonego

System wentylacji
Dyfuzor talerzowy

l
!

Przydomowa oczyszczalnia $ciekow jest oczyszczalnig biologiczng, ktéra pracuje w systemie SBR opartej
na niskoobcigzonym osadzie z dtugookresowym napowietrzaniem. Instalacja obejmuje jeden etap tlenowy,
a zbiornik jest podzielony za pomocg przegrody zanurzeniowej na komore separacji wiekszych
zanieczyszczen i komore z osadem czynnym, ktére potgczone sg ze sobg w czesci dennej. Oznacza to, ze
wszystkie Scieki z gospodarstwa domowego poddawane sg bezposrednio oczyszczaniu tlenowemu.
Sprezone powietrze dostarczane przez dyfuzory zapewnia dobre napowietrzanie catej instalacji, a powstaty
w wyniku tego osad czynny oczyszcza biologicznie scieki.

Bardziej szczegbtowy opis procesu mozna znalez¢ w instrukcji obstugi.

107 /124



mail@graf.info
www.graf.info

4 Montaz koncowy nadbudowy zbiornika

Maksymaln
Pompa mamutowa pozio?ln WOdyy %qﬁ\
Pompa mamutowa na sprezone powietrze zapewnia —
odprowadzenie $cieku po oczyszczaniu. Specjalna Trojnik
konstrukcja pompy mamutowej pozwala na doktadne - il
okreslenie minimalnego poziomu $cieku (patrz ilustracja — ] Minimalny poziom
obok). Je$li poziom padnie ponizej tréjnika, to wody
odprowadzenie Scieku wylgczy sie. T
Dopty Powietrz
Szczegotowe rysunki  techniczne —
instalacji zamowi¢ mozna w Otto Graf
GmbH. Sg one istotne dla montazu i
instalaciji.
Rysunki te zawierajg rowniez

szczegoty dotyczace uktadania rur
ostonowych i wezy powietrznych.
Zasada dziatania pompy mamutowej do $cieku

0Czyszczonego
4 Montaz koncowy nadbudowy zbiornika
I I ﬁl‘."‘.?
o o
/ \
| 1 L - 4
Ze wzgledow logistycznych oczyszczalnia sciekéw )
jest dostarczana bez wstepnie zamontowanej

nadbudowy i
pokrywy teleskopowej. Podczas montazu nalezy
przestrzegac instrukcji instalacji zbiornika!

41 Przylacza przewodéw wlot/wylot

Rure wlotowg wsuwa sie z zewnatrz do wstepnie mw

zamontowanej uszczelki wargowej. Koncéwka rury \ _

powinna siega¢ na minimum 10 cm do wnetrza / )

zbiornika.

Strona wylotowa jest podtgczona do rury z kielichem.

108 /124



mail@graf.info
www.graf.info

5 Montaz wewnetrznej szafy sterowniczej

5 Montaz wewnetrznej szafy sterowniczej

5.1  Wybér lokalizacji

Miejsce instalacji szafy sterowniczej spetniaé powinno nastepujgce wymagania:

o Wysoko$¢ instalacji powyzej maksymalnego mozliwego poziomu napetnienia zbiornika w celu
ochrony przed zalaniem, naptywem wody na skutek podnoszenia sie lustra w razie awarii.

e Pracujgca instalacja generuje hatas! Zatgczona sprezarka powietrza generuje dtugotrwate
dzwieki.

e Szafa sterownicza wymaga przytgcza zasilania z osobnym bezpiecznikiem (16 A, zwtoczny).
Przytgcze zasilania spetnia role odtgcznika zasilania sieciowego i musi by¢ tatwo dostepne
przez caty czas. Dodatkowe odbiorniki energii podtgczone do tego samego bezpiecznika mogg
zakiécac prawidtowg prace.

e Szafe sterowniczg nalezy zainstalowa¢ w suchym, chtodnym i dobrze wentylowanym
pomieszczeniu. Nie wolno zastania¢ szafy, a w szczegolnosci jej otworow wentylacyjnych i
gtébwnego przetgcznika, ktére muszg by¢ dostepne bez ograniczen w celu wykonania prac
konserwacyjnych.

e Weze powietrza nie mogg by¢ dtuzsze niz 20 metréw.

5.2 Montaz szafy PP

Dane techniczne =280~
Stopien ochrony: P20 é

Materiat: PP [oN]

Kolor: czarny

Wymiary szer. x wys. x gt. [mm]:
420 x 625 x 275

Zamkniecie:
Zabezpieczenie srubg z przodu, posrodku
Przytgcze elektryczne: u u

625

uzytkownik instaluje bezpiecznik wstepny
1~230V, 50 Hz &

Przytacza szafy sterowniczej:
Weze powietrzne: l.——420—~

3x 13 mm, 1x 19 mm Wymiary szafy PP
Kabel zasilania z wtyczkg typu E+F

109/124



mail@graf.info
www.graf.info

5 Montaz wewnetrznej szafy sterowniczej

Zawartos¢ torebki z materiatami Niezbedne narzedzia
montaZowymi Wiertio M10
1 Koftki rozporowe z tworzywa

Klucz ptaski SW13
Bit TX25 do Sruby wieszaka
Bit H2 do pokrywy szafy

Podktadki gumowe
Podktadka stalowa
Sruba wieszaka M8x10
Podktadka stalowa
Podktadka zebata
Nakretka M8

Sruba M4x20 stanowigca
zabezpieczenie pokrywy

0 (N[~ jwWIN

Szafe PP mocuje sie za pomocg 4 $rub wieszaka (4), ktére mocuje sie do $ciany za pomocg kotkéw
rozporowych (1). Podkfadki, podktadki zebate i nakretki nalezy zamontowaé w sposéb pokazany na
powyzszej ilustracji.

Po montazu pokrywe zabezpieczy¢ za pomocg $ruby M4x20. Zestaw zawiera drugg srube zapasows.

Przytacze elektryczne

Gniazdo, do ktérego podigczana jest szafa, musi byé uziemione,
zabezpieczone za pomoca bezpiecznika 16 A instalacji domowej i musi by¢

mozliwe jego odtaczenie od sieci.
Przytacze

zabezpieczyc!

110/ 124



mail@graf.info
www.graf.info

5 Montaz wewnetrznej szafy sterowniczej

5.3 Montaz szafy stalowej typu 2

Dane techniczne ]
d®
Stopien ochrony: P44
Materiat: Blacha stalowa 1,5 mm, ®
malowana proszkowo
Kolor: RAL 7032 H OO0
Wymiary szer. x wys. x gt. [mm]:
600 x 600 x 330
B T
Przeglad czesci
Nr czesci llo$¢
1 Szafa metalowa 1
2 Klucz do szafy 1
3 Kotek rozporowy 4
scienny M10
4 Uchwyt Scienny 4
5 Sruba M4x20 4
precyzyjna
6 Podktadka 4
7 Nakretka M8 4
8 Sruba M8 4

ol 60 oo o.

Czarny klucz z tworzywa, przeznaczony do otwierania
szafy jest zamocowany z boku gtéwnego przetgcznika.
Wszystkie czesci montazowe znajdujg sie we wnetrzu
szafy.

W celu zawieszenia szafy nalezy wykona¢ w Scianie
cztery otwory M10. Odlegtosci - patrz tabela.

111/124



mail@graf.info
www.graf.info

5 Montaz wewnetrznej szafy sterowniczej

Typ szafy szer. [mm] | wys. [mm] |
Szafa | typ 2 630 545 |

Nastepnie do otworéw wsungé cztery kotki rozporowe
M10.

Uchwyty Scienne
zamocowac w
otworach szafy, jak
pokazano na
ilustracji. Uchwyty
mocuje sie za
pomoca czterech
Srub M8
(precyzyjnych) oraz
odpowiednich

podktadek i nakretek.

Wskazéwka

W przypadku szaf ze
sprezarkami Becker
uchwyty sg juz
wstepnie
zmontowane.

Na koniec mocuje sie szafe we wczesniej wykonanych
otworach za pomoca $srub M8 (normalnych).

Alternatywnie:

Najpierw wkreci¢ sruby M8 w Sciane na gtebokos¢ 15
mm i zawiesi¢ szafe na uchwytach $ciennych,
korzystajgc z otworéw szczelinowych.

112/124



mail@graf.info
www.graf.info

5 Montaz wewnetrznej szafy sterowniczej

5.4 Montaz szafy stalowej typu 3

Dane techniczne

Stopien ochrony: 1P44
Materiat: Blacha stalowa 1,5 mm, ®
malowana proszkowo
Kolor: RAL 7032
H SODD

Wymiary szer. x wys. x gt. [mm]:
800 x 675 x 500

w
=

Szafa sterownicza jest dostarczana z
zamontowanymi zderzakami gumowo-metalowymi.
Szafe nalezy montowac wytacznie w miejscu
odpowiednio stabilnym (np. na stole), poziomym i
rownym. Dodatkowe mocowanie nie jest konieczne.

113/124



mail@graf.info
www.graf.info

6 Montaz zewnetrznej szafy sterowniczej

6 Montaz zewnetrznej szafy sterowniczej

6.1  Wybor lokalizacji

Miejsce instalacji powinno byé chtodne i nienarazone na bezposrednie nastonecznienie w miesigcach
letnich. Pomiedzy bocznymi Sciankami szafy a sgsiednig sciang nalezy zachowa¢ odstep co najmniej 10
cm. Jesli uzytkownik zapewnia zacienienie, to konieczne jest otwarcie bokéw, tak aby zapewnic
wystarczajgcqg wentylacje obudowy i zapobiec gromadzeniu sie ciepfa.

o Wysokos¢ instalacji powyzej maksymalnego mozliwego poziomu napetnienia zbiornika w celu
ochrony przed zalaniem, naptywem wody na skutek podnoszenia sie lustra w razie awarii.

e Szafa sterownicza wymaga przytgcza zasilania z osobnym bezpiecznikiem (16 A, zwtoczny).
Dodatkowe odbiorniki energii podigczone do tego samego bezpiecznika mogg zaktocac
prawidtowg prace.

e Pracujgca instalacja generuje hatas! Zatgczona sprezarka powietrza generuje dtugotrwate
dzwigki.

e Diugos¢ przewodow powietrznych nie powinna przekraczac¢ 20 metréw.

6.2 Przylgcze elektryczne

Przylacze elektryczne szafy sterowniczej moze wykonywac¢ wytacznie
uprawniony elektryk.
Szafa zasilana jest za pomoca przewodu zasilajgcego uktadnego w ziemi.
Przewdd ten musi by¢ zabezpieczony bezpiecznikiem 16 A instalacji
Przytgcze domowej i musi daé sie odtgczyé od sieci zasilania.
zabezpieczyé

6.3 Montaz szafki zewnetrznej dla szafki PP

Oddzielna instrukcja instalacji i montazu zewnetrznej szafy
sterowniczej dla szafy PP | jest zatgczona do szafy zewnetrznej i
nalezy jg koniecznie uwzglednic.

- =

Szafa sterownicza PP, Zewnetrzna szafa sterownicza z tworzywa
w zakresie dostawy dla szafy PP (opcjonalna)

114 /124



mail@graf.info
www.graf.info

6 Montaz zewnetrznej szafy sterowniczej

6.4 Montaz szafy zewnetrznej L, z tworzywa
Dane techniczne
Stopien ochrony: P44

Materiat: GFK PE
Kolor: RAL 7035

\é\é}gmia;r%/szeré); 5Wys. x gt. [mm: — Ilmil
x 1745 x | el

Kolumne z tworzywa sztucznego przeznaczong do montazu na zewngtrz nalezy
osadzi¢ w ziemi az do poziomu oznaczenia z przodu szafy.W tym celu w miejscu
planowanej instalacji nalezy wykona¢ odpowiednio gteboki wykop o gtebokosci
okoto 600 do 640 mm.

Do przygotowanego wykopu wprowadzi¢ nalezy rure ostonowg z wezami
powietrza.

Cokot fundamentowy nalezy wykona¢ zgodnie z zatgczong instrukcjg montazu.

Nastepnie szafke nalezy wtozy¢ pionowo do dotu na gtebokosé ok. 60-64 cm.
Nalezy zapewni¢ bezpieczne, stabilne ustawienie szafki w wykopie w pozycji
pionowe;.

W celu zabezpieczenia przed wilgocig z podtoza pustg przestrzen w stopie cokotu wypetni¢ nalezy
przewidzianym do tego celu granulatem (kod 107607). Materiat wypetnienia moze pozosta¢ w podstawie
szafki i nie trzeba go wymieniac.

Szafa otwarta majgca kontakt z otaczajgca ziemig o wysokiej wilgotnosci jest
narazona na rdzewienie i uszkodzenie elementoéw elektrycznych!

6.5 Montaz szafy zewnetrznej L i XL

Dane techniczne - B

i 1T v ]
Stopien ochrony: P44 | ] r:’_:j
Materiat: Blacha stalowa 1,5 mm,
malowana proszkowo
Kolor: RAL 7032
i i ]
Wymiary szer. x wys. x gt. [mm]:
L: 765 x 880 x 660
XL: 1140 x 1080 x 720
Fundament: petny fundament :

wykonuje uzytkownik

115/124



mail@graf.info
www.graf.info

6 Montaz zewnetrznej szafy sterowniczej

Fundament i przestawianie

-

czesci llos¢
Szafa metalowa L lub XL
Sruba M8

Kotek rozporowy M10
Podktadka

Sruba pierscieniowa M16

alhwN=Z
I NY N NG N N

o Zestaw zawiera cztery Sruby

pierscieniowe M16 przeznaczone do
przenoszenia szafy. Przed wkreceniem
Srub pierscieniowych do obudowy nalezy
zdjgc zmontowany daszek
przeciwdeszczowy i zaslepki z uchwytéw
Srub pierscieniowych. Po przeniesieniu
I nalezy ponownie zatozy¢ =zaslepki i
przykreci¢ daszek przeciwdeszczowy.
Szafe sterowniczg zamocowac¢ do
fundamentu za pomocg czterech $rub
M8 (wchodzgcych w zakres dostawy).

— Przed instalacjg nalezy przygotowad
[ tawe fundamentowg Iub fundament

= powierzchniowy.

= Projekt fundamentu patrz strona 120.

116 /124



mail@graf.info
www.graf.info

6 Montaz zewnetrznej szafy sterowniczej

390

255

1229

1400

295
1000

Szafa AL

Szafa A XL

=

27

N
/

Otwory M10

/@ 5
T~

]

e

.
IS B

1171124

Podczas odlewania fundamentu nalezy
przestrzegac¢ okreslonych na rysunku
wymiarow, a w szczegolnosci potozenia
otwordw, przez ktére zostang pdzniej
poprowadzone weze.

W dnie szafki znajdujg sie cztery otwory
M10. Otwory te nalezy rowniez wykonac
w fundamencie betonowym.

Nastepnie do otworéw wiozyé cztery
kotki rozporowe M10. Zamocowac szafe
za pomocg czterech srub M8 (wraz z
podktadkami).



mail@graf.info
www.graf.info

7 Ukladanie i prowadzenie wezy powietrznych

7 Ukladanie i prowadzenie wezy powietrznych

Dyfuzory napowietrzajgce i pompy mamutowe nalezy podtgczy¢ do wyspy zaworowej w szafie sterowniczej.
Dwa weze powietrzne nalezy poprowadzi¢ w rurze ostonowej utozonej pod ziemig do planowanego miejsca
instalacji szafy. Nalezy je odpowiednio skroci¢, aby weze nie byty naciggniete oraz nie tworzyly sie zagiecia.
Podczas podtgczania nalezy skontrolowaé, czy weze zostaty podtgczone do odpowiednich tulei. W celu
unikniecia pomytek pompa mamutowa i weze wentylacji w zbiorniku, a takze dwie tuleje na szafie
sterowniczej sg oznaczone kolorami:

Napowietrzanie > niebieski

Odpompowanie $cieku oczyszczonego > czarny

Przytgcza oznaczone tym samym kolorem nalezy ze sobg potgczy¢ i zamocowac opaskami zaciskowymi.
Dostepne sg weze w odpowiednich kolorach do srednicy 19 mm. Weze o $rednicy 25 mm sg dostepne w
wersji przezroczyste;.

Przed montazem zalecamy podgrzanie kohcowek wezy. W celu zapewnienia niezawodnego pomiaru
poziomu zalecamy owing¢ dodatkowo niebieskie tuleje weza napowietrzania tasmg teflonowa.

Po ulozeniu i podigczeniu wezy rure ostonowg nalezy odpowiednio
zaslepi¢, przynajmniej po stronie ukfadu sterowania, tak aby zapobiec
wymianie gazu pomiedzy oczyszczalnig sciekéw a otoczeniem szafy
(wilgo¢, zapachy).

7.1 Montaz zamkniecia rury z pianki polietylenowej firmy GRAF

Dla instalacji XL 12 RLM, 15 RLM i 19 RLM firma GRAF oferuje zamkniecia rury ostonowej wykonane z
pianki PE.

Weze z rury ostonowej wprowadzaé do Przebi¢ wezem cienkg warstwe wierzchnig.
odpowiednich otworéw zamkniecia rury ostonowej. Pozostata po przebiciu warstwa przykleja sie z
zewnatrz do koncowki weza.

118 /124



mail@graf.info
www.graf.info

Odcig¢ koncdéwke weza, aby usungé resztki pianki. Wcisng¢ zamkniecie do rury ostonowej, tak aby
szczelnie zatkac rure.

7.2 Zamkniecie rury z pianki poliuretanowej

W zwigzku z tym, ze podczas wypetniania rury ostonowej piankg PU moga powstac
nieszczelnosci, zalecamy uzycie zamkniecia rury ostonowej z pianki PE produkgiji
GRAF.

Powierzchnie weza i Scianki rury nalezy oczyscic z
brudu i zanieczyszczen, a nastepnie lekko zwilzy¢
woda.

Podczas wypetniania piankg nalezy sprawdzic, czy
kazdy waz zostat pokryty piankg PU z kazdej strony.
W celu lepszego rozkfadu pianki i zapewnienia
dobrego pokrycia wezy nalezy je ostroznie
przesuwac w kierunku wzdtuznym podczas
wypetniania pianka.

8 Uruchomienie

Przed uruchomieniem instalacji nalezy zapoznac sie z instrukcjg obstugi.

119/124



mail@graf.info
www.graf.info

9 Zalacznik

9.1 Projekt fundamentéw Szafka A L

TES z® 1"1!

“65-{:. )
— Ir'?"::ﬂ':!,

o L
280
- [
| i
. T -
“ - -
%‘,?,1 ; . 1.3.‘_3 _.|i\
’1? 400
=

250 (067

200 7.9 H—1

285 (1187
135 5.7 I

* o fF
Wi

IEHIJ—'-

e

1000 [ =34 —————=
Schrankfront

Front of the cabinat

avani de ['‘armolre

20 La'}—‘l-_
275 [10.87]

800 [2-11.4%

160 [6.37

160 [6.37
&

prodiet ro
ke P,
erfiosk no.

GRAF A-Schrank Metall L + Fundamentplan

[

[T =]
GRAF Extamal stea| cabinet L

GRAF Caja exiema L

"
GRAF Armoene extame L

+ concrate base plata + Hach oe basa & plagues da fondalion

ummonTa vl

e 156 s Ot Gral GmbH

Distum a— CarlaLain=5tr, 35

Cladiy o

date 20211129 e += 3% DE-T8331 Teningen
mailfigra’.ma

alaran . Einraiten  mwr [iren]

L e L] M 1220 LW, gal = US pal, whaw el info

120/ 124




mail@graf.info
www.graf.info

9.2 Projekt fundamentéw szafka A rozmiar XL

— 1080 [F-8.57)

&

Ry

ql-—ﬂ:[?’l

s

LY.

1000 [3=3.47
300 [11 5 ————
E I =
s e 8
E | . i | o
o
. o r'. - y
Y3 @200 —" 17 £
&g 210 @10 -, g
g | V \
‘]’ & | |
8
170 |s_?-1-.._._L—1¢ec- :3—.5!1—l__|1u|a ™
T L L T—
4 Schrankiront
Front of the cabinet
avani de larmoire
[ s,
GRAF A-Schrank Metall XL + Fundamentplan et
Nl AR,
=] ES "
GRAF Extermal stesl cabined X1|  GRAF Caja sxtema XL CRAF Afmoing axterne XL [T
+ concrase base plate * placa do bass + plague de fondation
— Isc e Ot Graf GmbH
- Ea— Carl=Zniss=Str, 2
o 2021,11,29 e 4-3% DE-7E331 Teningen
aluta Cirbaten Mo sy mal@gratinio
ity M 120 " il = ,:5 el wewwgralinkc

www.graf.info

121/124
2024-11



Notizen / Notes / Notes / Notas / Note / Uwagi

122/124



123/124



_ REPRISE A DEPOSER A DEPOSER
. A LA LIVRAISON EN MAGASIN  EN DECHETERIE
Cet appareil WY

se recycle

Points de collecte sur www.quefairedemesdechets.fr
Privilégiez la réparation ou le don de votre appareil !

 TRIEZ
REEMPLOYEZ

RECYCLEZ ASSOCIATION  DISTRIBUTEUR  DECHETERIE

Adresses sur quefairedemesdechets.fr

. © Otto Graf GmbH/Art.-Nr. 943503
Otto Graf GmbH Tel.: +49 7641 589-0 °DE’ENTFR, Es" o o

Kunststofferzeugnisse Fax: +49 7641 589-50
Carl-Zeiss-Stralte 2-6 mail@graf.info
DE-79331 Teningen www.graf.info





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Europe ISO Coated FOGRA27)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 150
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


